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5L LATZTH 312 10kl A LR - T R S
5L LATZTHE 312 1okl A LR - T R S
5L LHTZTH 318 10kl A LR - T R S
5L LHTZTH 318 10kl A LR - T R S
5L LHTZTH 318 1okl A LR - T R S
5L LHTZTH 318 10kl A LR - T R S
A 511 LATZTH |3 |18 1okl A LR - T R S
AR 51-6 LATZTH |3 |18 1okl A LR - T R S
N | BL-6 g Hr 2| 2
AR 51T EATZTHE 313 1okl A LR - T R
AR 51T EATZTHE 313 1okl A LR - T R S
A 51-10 LATZTH |3 |18 1okl A LR - T R
A 5110 LATZTH |3 |18 1okl A LR - T R S
E| B2-1 [l 1|5
NER | B2 -1 g Hr T 1|5
NER ] B2 -1 g Hr T 1|6
| B2-1 [l 1] 6
NER ] B2 -1 g Hr T 1|6
NEE | 52-3 g Hr T 1|6
SN 52 -3 g Hr T L |6
NEE | 52 -4 P AT 1|11
/NEB | 5210 g Hr T 1 |15
IR 52 - 10 [l 1 |15
N 52 - 15 [l 1|12
IR 52 - 15 [l 1|12
N 52 - 15 [l 1 |13
N 52 - 15 [l 1 |14
N 52 - 15 [l 1 |14
N 52 - 15 [l 1 |14
N 52 - 18 [l 1 |10
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RN

B & B £ = o o/ £ R
K T f
nog| A M oOEr A4 % ® B

JNER | 52 -22 [y 1|15
/INER | B3 -6 V4 T 1|19
/NER | 53 -6 V4 T 1|19
/NER | 53 -6 V4 T 1|19
JNER | B3 -7 V4 T 1|19
JNER | B3 -7 V4 T 1|19
JNER | B3 -7 V4 T 1|19
/NER | 53-8 V4 T 1|18
JNER | B3 -9 V4 T 1|17
JNER | B3 -9 P T 1|17
/NEE | B3 -11 g Hr T 1|19
/NEE | B3 -12 g Hr 1|16
AR | B4A-1 P T 1|19
INER | B4-T P T 1|19
/NER | B4-8 P T 1|19
/NER | B4-8 P T 1|19
JNER | B4-8 P T 1|19
/NER | B4-8 PG T 1|19
/NER | B4-8 PG T 1|19
/NER | B4-8 PG T 1|19
/NEE | B4-10 g Hr T 1|19
/NEE | B4-10 g Hr T 1|19
/NEE | B4-11 g Hr T 1 {20
/NEE | B4-13 g Hr T 1|21
/NEE | B4-13 g Hr T 1|21
JNER | B4 -13 P T 1|21
N | B4 -14 P T 1|21
/N | B4 -15 P T 1|21
ANER | B4 - 17 P T 1 |23
ANER | B4 - 17 P T 1 |23
JNER | 5418 P T 1|21
AN | 5419 P T 1|21
AN | 5419 P T 1|21

_37_




RN

m A B &£ & woE B X R
K T f
nog| A M oo A& % ® B
JANER | 55 -1 Ve T 1|25
JNER | BB -1 Ve T 1|25
JNER | BB -1 Ve T 1|25
JNER | BB -1 Ve T 1|30
JNER | BB -1 Ve T 1|30
JNER | BB -1 Ve T 1|30
JNER | 55 -8 Ve T 1|25
JNER | 55 -9 Ve T 1|27
/NEB | 5510 g T 1 |28
/NEB | 5512 g Hr T 1 |26
/NEB | 55-13 g Hr T 1 |25
/NEB | 55 -14 g Hr 1 |26
/NEB | 55 -14 g Hr T 1 |26
/NEB | 55 -14 g Hr T 1 {30
/NEB | 55 -14 g Hr 1 {30
/NEB | 55 -14 g Hr T 1 {30
/NEB | 5515 g Hr T 1 |31
/NEB | 5515 g Hr T 1 |31
/NEB | 5516 g Hr T 1 |25
/NEB | 5516 g Hr T 1 |25
/NEB | 5517 g Hr T 1 |26
INER | BT -1 Ve T 6 | 6
INER | BT -1 Ve T 6 | 7
/NEB | BT -6 g Hr T 6 |10
/NER | BT -6 g Hr T 6 |10
/NER | BT =T P T 6 |12
JNER | BT -8 Ve T 6 | 8
JNER | BT -8 Ve T 6 | 8
/NER | BT -10 g Hr T 6 | 9
AN BT - 11 P T 6 |11
/NER | BT -12 g Hr T 6 | 7
/NER | BT -12 g Hr T 6 | 8
/NER | BT -12 g Hr T 6 | 8

_38_




RN

B & B £ = o o/ £ R
K T f
nog| A M oOEr A4 % ® B
JNER | BT -17 [y 6 |10
/NEE | BT -19 g T 6 | 3
/NEE | BT -20 g T 6 | 3
JNER | 58 -4 V4 T 6 |18
/NER | B8 -4 V4 T 6 |18
/NER | B8 -4 V4 T 6 |18
JNER | 58 -4 V4 T 6 |19
/NER | B8 -4 V4 T 6 |20
/NER | 58 -4 V4 T 6 |20
JNER | B8 -4 P T 6 |23
JNER | B8 -4 P T 6 |24
JNER | B8 -4 P T 6 |24
/ANE] 60 -1 By T 1|17
JNER | 60 -7 P T 6 |29
JNER | 60 -9 P T 6 |28
/NEE | 60 -10 g Hr T 6 |26
/NEE | 60 -10 g Hr T 6 |26
/NEE | 60 -10 g Hr T 6 |27
/NEE | 60 -10 g Hr T 6 |27
/NEE | 60 -10 g Hr T 6 |27
/ANE ] 60 - 11 By FH T 1|17
N 60 - 28 AT ZTH| 8 | 7
/NEE | 60 -98 g Hr T 6 |29
ANE] 61 -1 By FH T 1|28
ANE] 61 -1 By FH T 1|28
AINE ] 61 -4 By FH T 1|29
/AINE| 63 MRET T H] 10 | 9
/INER| 63 HRET T H| 11 | 14
NG 63 -10 HFORUET =T H| 11| 3
NG 63 -10 BT T H| 11| 8
ANEE | 63 -10 YT =T H| 11 | 8
NG 63 -10 BT T H| 11| 8
ANEE | 63 -10 YT =T H| 11 | 10
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RN

m E & £ R FoE B X R
ARSI %ﬁméé;%%g .
JNER| 63 -10 HRET T HE] 1110
/NER | 63-10 HHgemT T H | 11| 10
/NER | 63-10 HgemT T H | 11| 10
/NER | 63-10 HHgemT T H | 11| 10
/NER | 63-10 HHgemT T H | 11| 10
/NER | 63-10 HgemT T H | 11| 10
/NER| 63 -10 HHgemT T H | 11| 10
/NER | 63-10 HgemT T H | 11| 10
/NER | 63-10 HgemT T H | 11| 10
/NER | 63-10 HgemT T H | 11| 10
/NER | 63-10 HgemT T H | 11| 10
/NER | 63-10 HgemT T H | 11| 10
/NER | 63-10 H BT T H| 11 | 11
/NER | 63-10 H BT T H| 11 | 11
/NER | 63-10 H BT T H| 11 | 11
/NER | 63-10 H BT =T H| 11 |13
/NER | 63-10 H BT =T H| 11 |13
/NER | 6310 Hg BT T H | 11|13
/NER | 6310 HgBT =T H | 11 |23
/NER| 6310 HIgBT =T H | 11 |23
/NER| 6310 HHgmT T H | 11 |24
/NER | 6310 HgmT T H | 11|24
/NER| 6310 HRBT =T H| 11 |25
/NER| 6310 HRBT =T H| 11 |25
/NER| 6310 HBT =T H| 11 |25
/NER | 6310 HRBT T H| 11 |27
/NE | 6310 HRBT T H| 11 |27
/NER | 6310 HRBT T H| 11 |27
/NE | 6310 HRBT T H| 11 |27
/NER | 6310 HRBT T H| 11 |27
/NER | 6310 HRBT T H| 11 |27
/NE | 6310 HRBT T H| 11 |27
/NE | 6310 HRBT T H| 11 |27

_40_




RN

m E & £ R FoE B X R
ARSI %ﬁméé;%%g .
JNER| 63 -10 HORET TR 11|27
/NER | 63-10 HIBT T H | 11 |27
/NER | 63-10 HIBT T H | 11 |28
/NER | 63-10 Hi BT T H | 11 |28
/NER | 63-10 HgemT T H | 11|29
/NER | 63-10 HgemT T H | 11|29
/NER| 63 -10 HgemT T H | 11|30
/NER | 63-10 HgemT T H | 11|30
/NER | 63-10 HRBT T H| 12 | 11
/NER ] 63-14 HRBT =T H| 12 |32
/NER| 63-16 Hi BT T H| 10 | 21
/NER | 63-16 H BT =T H| 10 | 21
/NER | 63-16 HRBT =T H| 13| 1
/NER | 63-16 HRBT =T H| 13| 1
/NER | 63-16 HRBT =T H| 13| 1
/NER | 63-16 HRBT =T H| 13| 1
/NER | 63-16 HRBT =T H| 13 | 2
/NER | 63-16 g T H| 13 | 4
/NER | 63-16 g T H| 13 | 4
/NER | 63-16 HHgmT T H | 13 |24
/NER | 63-16 HIBT =T H| 13 |25
/NER| 63-19 HRBT =T H| 12 | 5
/NER| 6319 HRBT =T H| 12 | 5
/NER| 6319 HRBT =T H| 12 | 5
/NER| 6319 HRBT =T H| 12 | 5
/NER | 63-19 HRETZTH| 12 | 5
/NER| 6319 HRBET T H| 12 | 6
/NER | 63-19 HRBET T H| 12 | 6
/NER| 6319 HRBET T H| 12 | 6
/NER | 63-19 H BT =T H| 12 | 10
/NE | 63-23 Hi BT =T H| 10 | 10
/NER | 63-28 Hi BT =T H| 10 |28
/NER | 63-28 Hi BT =T H| 10 |28

_41_




RN

m E & £ R FoE B X R
ARSI %ﬁméé;%%g .
JNER| 63 -28 HRET T H| 10 |28
/NER | 63-28 HieBT — T H| 10 |28
/NER | 6342 HRBETZTH| 12 | 5
/NER 6342 HRBT =T H| 12 | 5
/NER | 6342 HRBETZTH| 12 | 5
/NER | 6342 HRBETZTH| 12 | 5
/NER | 63-55 g ZTH| 10 | 9
/NER |63 -T2 HRBT T H| 12 |33
/NER | 63 -84 WM T H| 13| 6
/NER | 63 -84 HRBT =T H| 13 | 7
/NER | 63 -84 HRBT =T H| 13 | 7
/NER | 63 -84 HRBT =T H| 13 | 7
/NER | 63 -84 HRBT =T H| 13 | 7
/NER | 63-125 HI BT =T H| 10 |27
/NER | 63-126 HgemT T H | 10 |26
/NER | 63-126 HI BT =T H| 10 |27
/NER | 63-126 HI BT =T H| 10 |27
/NER | 63-128 HIBT =T H| 10 |25
/NER | 63-128 HIBT =T H| 10 |25
/NER | 63-128 HIBT =T H| 10 |25
/NER | 63-128 HIBT =T H| 10 |25
/NER | 63137 HgemT T H | 13 |19
/NER | 63137 H BT =T H| 13 | 21
/NER | 63137 H BT T H| 13 | 21
/NER | 63-138 Hi BT =T H| 13 | 18
/NER | 63146 HRBT T H| 13 |22
/NER| 63147 HRET T H| 12 | 12
/NER | 63147 HRET T H| 12 | 12
/NER| 63147 HRET T H| 12 | 12
/NER | 63147 HRET T H| 12 | 12
/NE | 63-153 HRBT T H| 12 |13
/NE | 63-153 HRBT T H| 12 |13
/NER | 63154 HR BT T H| 12 | 14

_42_




RN

m E & £ R FoE B X R
ARSI %ﬁméé;%%g .
JNER| 63155 MRETTTH] 12 |14
/N 63155 g T H | 12 | 14
/N 63156 gl T H| 12 |28
/N 63156 gl — T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 gl — T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63-156 HgemT T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63156 HgemT T H| 12 |28
/N 63156 HHgemT T H| 12 |28
/N 63156 HHgemT T H| 12 |28
/N 63156 HHgemT T H| 12 |28
/N 63156 HHgemT T H| 12 |28
/N 63156 HHgemT T H| 12 |28
/N 63156 HHgemT T H| 12 |28
/N 63156 HHgemT T H| 12 |28
/N 63156 HHgmT T H| 12 |28
/N 63156 HHgmT T H| 12 |28
/N 63156 HHgmT T H| 12 |28
/N 63156 HHgmT T H| 12 |28
/N 63156 HHgmT T H| 12 |28
/N 63156 HHgmT T H| 12 |28
/N 63156 HHgmT T H| 12 |28
/N 63156 HHgmT T H| 12 |28

_43_




RN

m E & £ R FoE B X R
ARSI %ﬁméé;%%g .
JNER| 63 - 156 HRET TR 12 |28
/N 63156 gl T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 gl — T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 gl — T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 gl T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63-156 HgemT T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63156 HgemT =T H| 12 |28
/N 63157 W T H| 12 | 9
/N 63158 M T H| 12 | 8
/N 63158 M T H| 12 | 8
/N 63159 HgemT T H | 11| 10
/N 63160 HgemT T H | 11| 10
/N 63160 HgemT T H | 11| 10
/N 63160 HHgemT T H | 11| 10
/N 63160 HgemT T H | 11| 10
/N 63162 HHgmT ZTH | 1L | 14
/N | 63 - 164 HgelT T H| 10 |23
/N 63165 HgelT T H| 10 |22
/N 63165 HHgRT T H| 10 |22
/N 63165 HHgRT T H| 10 |22
/N 63165 HHgRT T H| 10 |22
/N 63165 HHgRT T H| 10 |22
/N 63165 HHgRT T H| 10 |22
/NEE | 63165 HHgRT T H| 10 |22
/N 63166 HHglT T H | 10 |24
/N 63167 R T H| 11 | 5
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RN

m E & £ R ;oE OB O£ R
ARSI %ﬁméé;%%g .
/e 63 - 168 MRETTTH| 11| 8
/NER | 63-168 HiBT T H| 11 | 8
/NER | 63-168 HiBT T H| 11 | 8
/NER | 63-168 HiRBT T H| 11 | 8
/NER | 63-168 HHgmT ZTH | 11| 9
/NER | 63-168 HHgmT ZTH| 11| 9
/NER | 63-168 HHgemT T H | 11| 10
/NER | 63170 HRBT =T H| 12 | 2
/NER| 63 - 171 HRBT =T H| 12| 1
/NER | 63-1T73 HRBT =T H| 12 |28
/NER | 63-1T73 HRBT =T H| 12 |28
/NER | 63-1T73 HgemT T H | 12 |29
/NER | 63174 HRBT =T H| 11 |12
/NER | 63-176 g T H | 12 | 26
/NER | 63-176 g T H | 12 | 26
/NER | 63-176 HRBT =T H| 12 |27
/NER | 63-183 HRBT =T H| 13 |22
/NER | 63-183 HRBT =T H| 13 |22
/NER | 63187 HgBT =T H | 11 |23
/NER | 63-188 HRBT =T H| 11 |22
/NER | 63-188 HRBT =T H| 11 |22
/NER | 63-188 HRBT =T H| 11 |22
/NER | 63196 Hi BT =T H| 12 |31
/NER | 63197 HHgmT T H | 12 |26
/NER | 63198 T T H | 12 | 14
/NE | 63198 HR BT T H| 12 | 14
/NER | 63198 HRBT T H| 12 | 15
/NE | 63198 HRBT T H| 12 | 16
/NER| 63198 HRBT =T H| 12 | 16
/NE | 63198 HRBT =T H| 12 | 16
/NER] 63199 HRBT =T H| 12 | 16
/NER] 63199 HRBT =T H| 12 | 16
/NER] 63199 HRBT =T H| 12 | 16
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RN

B & B £ = o o/ £ R
K T f
TEUARE oOEr A4 % ® B

JNERC| 63200 HRET T H| 12 |15
N 63 - 203 R T H| 10 |12
N 63 - 203 BRI T H| 10 |12
/N 63 - 203 BRI T H| 10 |12
N 63 - 203 R T H| 10 |12
N 63 - 204 FORET T H| 11| 4
N 63 - 204 BT T H| 11| 5
N 63 - 205 R T H| 13 |23
N 63 - 207 ORI T H| 13 |11
N 63 - 209 kR T H| 13 | 2
N 64 -1 PRET=TH| 1 | 5
N 64 -1 PRET=TH| 1 | 5
N 64 -1 PRET=TH| 1 | 5
N 64 -1 PRET=TH| 1 | 5
N 64 -1 PRET=TH| 1 | 5
N 64 -1 HRRT=TH| 5 |17
N 64 -1 FRET=TH| 9 | 6
N 64 -1 HIRET=TH| 9 | 7
N 64 -2 FRET=TH| 2 | 1
N 64 -2 FRET=TH| 2 | 1
N 64 -2 FRET=TH| 2 | 1
N 64 -2 FRET=TH| 2 | 1
N 64 -3 HIRET=TH| 3 |15
N 64 -3 HPRET=TH| 11 | 14
N 64 -3 HPRET=TH| 11 | 14
NG 64 -4 HFORET=TH| 4 | 2
INEE | 64 -4 HRET=TH| 4 |25
INEE | 64 -4 HRET=TH| 4 |26
INEE | 64 -4 HRET=TH| 4 |26
INEE | 64 -4 HRET=TH| 4 |27
AN 64 -4 HRET=TH| 4 |27
INEE | 64 -4 HRET=TH| 4 |27
INEE | 64 -4 HRET=TH| 4 |27

_46_




RN

B & B £ = ok B £ R
ARSI o4 ;% e .
NEE | 64-5 FRAET=TH| 4 | 8
/INHE | 645 BT =TH| 7 |10
/N 645 HRET=TH| 7 |11
/N 64 -5 FRET=TH| 13| 1
N 64 -5 FRET=TH| 13 | 16
/INHE | 64-6 BT =TH| 6 |19
N 64-6 FRET=TH| 10 | 4
N 64-6 BT =TH| 10 |11
INE| 647 HRET=TH| 6 |18
N 64 -7 PRI =TH| 6 |19
N 64 -7 PRI =TH| 6 |20
N 64 -7 FRET=TH| 6 |21
N 64 -7 FRET=TH| 6 |21
N 64 -7 PRI =TH| 6 |23
N 64 -7 PRI =TH| 6 |23
N 64 -7 PRI =TH| 6 |23
N 64 -7 PRI =TH| 6 |24
N 64 -7 HRET=TH| 6 |24
N 64 -7 HRET=TH| 6 |24
N 64 -7 HIRET=TH| 9 | 2
JNER 64 -7 HRET=TH| 9 | 2
N 64 -7 FIRET=TH| 9 | 2
N 64 -7 HRET=TH| 9 | 4
N 64 -7 HRET=TH| 9 | 5
N 64 -8 HFRET=TH| 5 |19
JNER 64 -8 HHRET=TH| 8 | 4
JNER 64 -8 HHRET=TH| 8 | 4
JNER 64 -8 HHRET=TH| 8 | 4
JNER 64 -8 HHRET=TH| 8 | 4
JNER 64 -8 HFHRET=TH| 8 | 6
JNER 64 -8 HFHRET=TH| 8 | 6
JNER 64 -8 HFHRET=TH| 8 | 6
JNER 64 -8 HHRET=TH| 8 | 6

_47_




RN

B & B £ = ok B £ R
ARSI o4 ;% e .
| 64-8 MRET=TH| 8 | 7
JNER 64 -8 FRET=TH| 8 | 7
JNER 64 -8 FRET=TH| 8 | 7
JNER 64 -8 FRET=TH| 8 | 7
JNER 64 -8 FRET=TH| 8 | 8
JNER 64 -8 FRET=TH| 8 | 9
JNER 64 -8 FRET=TH| 8 | 9
INH| 648 BT =T H| 8 |10
INH | 648 BT =T H| 8 |10
N 64 -8 PRI =TH| 8 |12
N 64 -8 HFRRT=TH| 8 |18
N 64 -8 PRI =TH| 8 |19
N 64 -8 FRET=TH| 8 |20
N 64 -8 FRRT=TH| 8 |20
N 64 -8 FRET=TH| 8 |21
N 64 -8 FRET=TH| 8 |21
N 64 -8 PRI =TH| 8 |24
N 64 -8 HRET=TH| 8 |24
N 64-9 BT =TH| 5 |25
N 64 -12 HRET=TH| 11 | 4
N 64 - 15 HIRET=TH| 7 |12
N 64 - 15 PIRET=TH| 7 |12
N 64 - 15 HRET=TH| 7 |14
N 64 - 15 HRET=TH| 7 |14
N 64 - 15 HRET=TH| 7 |14
JNER 64 - 17 HRET=TH| 5 | 8
ANE | 64 -18 HRET=TH| 8 |23
ANE | 64 -18 HRET=TH| 8 |23
JNER 64 - 20 HFHRHET=TH| 5 | 5
JNER 64 - 20 HFHRHET=TH| 5 | 5
JNER 64 - 20 HFHRHET=TH| 5 | 5
JNER 64 - 22 HFHRET=TH| 5 | 9
AINE | 64 - 27 HRET=TH| 9 |16

_48_




RN

B & B £ = o o/ £ R
K T f
TEUARE oOEr A4 % ® B
JNERC| 64 -27 MRET=TH| 9 |16
/N 64-31 HRET=TH| 6 | 6
JNER 64 - 31 FRET=TH| 6 | 6
JNER 64 - 31 FRET=TH| 6 | 6
/N 64-31 HRET=TH| 6 | 7
JNER 64 - 31 FRET=TH| 6 | 7
JNER 64 - 31 FRET=TH| 6 | 7
/N 64-31 HRET=TH| 6 | 7
JNER 64 - 31 FRET=TH| 6 | 7
JNER 64 - 31 FRET=TH| 6 | 7
N 64 - 31 YT =TH| 6 | 8
JNER 64 - 31 FRET=TH| 6 | 8
JNER 64 - 32 PRI =TH| 6 | 9
N 64 - 32 YT =TH| 6 | 9
JNER 64 - 32 FRET=TH| 6 | 9
JNER 64 - 32 PRI =TH| 6 | 9
N 64 - 32 YT =TH| 6 | 9
INER | 6433 HRET=TH| 4 |11
INER | 6433 HRET=TH| 4 |11
N 64 - 33 ORI =TH| 6 | 6
JNER 64 - 33 HRET=TH| 6 | 6
JNER 64 - 33 HRET=TH| 6 | 6
N 64 - 33 YT =TH| 6 | 9
JNER 64 - 33 HRET=TH| 6 | 9
INER | 6433 HRET=TH| 6 |11
/ANEE | 64 -33 HRET=TH| 6 |11
/ANEE | 64 -33 HRET=TH| 6 |20
JNEE | 64 -34 MRET=TH| 6 |12
/ANE | 64 -34 HRET=TH| 6 |12
ANEE | 64 -34 HRET=TH| 6 |12
/NEE | 64 -35 MRET=TH| 4 |19
/ANEE | 64 -35 HRET=TH| 4 |19
JNER 64 - 39 HHRET=TH| 5 | 6

_49_




RN

B & B £ = ok B £ R
ARSI o4 ;% e .
/IR 64 -39 FRET=TH| 5 | 6
N 64 -39 FRET=TH| 5 | 8
N 64 -39 FRET=TH| 5 | 8
/N 64 - 39 FRET=TH| 5 | 8
N 64 - 42 FRET=TH| 6 | 2
N 64 - 42 FRET=TH| 6 |29
N 64 - 42 FRET=TH| 6 |29
N 64 - 42 FRET=TH| 6 |30
N 64 - 42 FRET=TH| 6 |30
N 64 - 44 PRI =TH| 6 |20
N 64 - 44 PRI =TH| 6 |20
N 64 - 44 PRI =TH| 6 |20
N 64 - 44 PRI =TH| 6 |20
N 64 - 44 PRI =TH| 6 |27
N 64 - 44 PRI =TH| 6 |27
N 64 - 44 PRI =TH| 6 |27
N 64 - 44 PRI =TH| 6 |28
N 64 - 44 BT =TH| 6 |28
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 45 HRET=TH| 6 | 3
JNER 64 - 46 HHRET=TH| 6 | 4
JNER 64 - 46 HHRET=TH| 6 | 6

_50_




RN

m E & £ R ;oE OB O£ R
ARSI o4 ;% e .
/IR 64 - 46 FRET=TH| 6 | 6
N 64 - 48 FRET=TH| 5 | 4
N 64 - 48 FRET=TH| 5 | 4
/N 64 - 48 FRET=TH| 5 | 4
N 64 - 48 FRET=TH| 5 | 4
N 64 - 48 FRET=TH| 5 | 4
N 64 - 48 FRET=TH| 5 | 4
N 64 - 48 FRET=TH| 5 | 4
N 64 - 48 FRET=TH| 5 | 4
JNER 64 - 48 PRET=TH| 5 | 4
JNEE | 64 -48 PEAIT—TH| 1 |38
JNEE | 64 -48 PEANT—TH| 1 |38
JNEE | 64 -48 FEAIT—TH| 1 |38
JNEE | 64 -48 FEAIT—TH| 1 |39
JNEE | 64 -48 FEARIT—TH| 1 |40
JNEE | 64 -48 FEARIT—TH| 1 |40
JNEE | 64 -48 FEARIT—TH| 1 |40
N 64 - 67 HRET=TH| 5 |16
N 64 - 67 HRET=TH| 5 |16
N 64 - 67 HRET=TH| 5 |16
N 64 - 67 HRET=TH| 5 |16
N 64 - 67 BT =TH| 5 |25
N 64 - 69 HRET=TH| 5 |16
JNER 64 - 71 HRET=TH| 6 | 6
JNER 64 - 71 HRET=TH| 6 | 6
JNER 64 - 71 HHRET=TH| 6 | 6
JNER 64 - 71 HHRET=TH| 6 | 6
JNER 64 - 71 HHRET=TH| 6 | 6
JNER 64 - 71 HHRET=TH| 6 | 6
JNER 64 - 71 HHRET=TH| 6 | 6
JNER 64 - 71 HHRET=TH| 6 | 6
JNER 64 - 71 HHRET=TH| 6 | 6
JNER 64 - 72 HHRET=TH| 6 | 6

_51_




RN

B & B £ = o o/ £ R
K T f
TEUARE oOEr A4 % ® B

IR 64-T74 MRET=TH| 9 |12
N 64 - 74 FRET=TH| 9 |12
N 64 - 75 FRET=TH| 9 |13
/N 64 - 75 FRET=TH| 9 |13
N 64 - 75 FRET=TH| 9 |13
N 64 - 75 FRET=TH| 9 |13
N 64 - 76 FRET=TH| 4 | 9
N 64 - 76 FRET=TH| 4 | 9
N 64 - 76 FRET=TH| 4 |10
N 64 - 77 PRI =TH| 4 | 4
N 64 - 77 PRI =TH| 4 | 4
N 64 - 77 PRI =TH| 4 | 4
N 64 - 77 PRI =TH| 4 | 4
N 64 - 77 FRET=TH| 4 |10
N 64 - 77 FRET=TH| 4 |10
N 64 - 77 PRI =TH| 4 |12
N 64 - 77 PRI =TH| 4 |17
N 64 - 77 HIRET=TH| 4 |17
N 64 - 77 HPIRET=TH| 4 |17
N 64 - 77 HPIRET=TH| 4 |17
N 64 - 77 HPRET=TH| 11 | 16
N 64 - 77 HPRET=TH| 11 |16
N 64 - 77 HPRET=TH| 11 |16
N 64 - 77 HPRET=TH| 11 |16
N 64 - 77 HPRET=TH| 11 | 16
INER| 64 -TT HRBET=TH| 11 |16
ANEE | 6478 HRET=TH| 4 |16
ANEE | 64 -78 HRET=TH| 4 |16
ANEE ] 6479 HRET=TH| 4 |14
ANE ] 6479 HRET=TH| 4 |14
/ANE ] 64 -80 HRET=TH| 5 |25
/ANEE | 64 -80 HRET=TH| 5 |26
/ANEE | 64 -80 HRET=TH| 5 |26

_52_




RN

m E & £ R FoE B X R
K T f
TEUARE BooE A4 % ® B

/NER| 64 -80 POET=TH| 5 |26
/N 6481 HRET=TH| 5 | 3
VB | 64-81 MREIT=TH| 5 |27
JNER | 64 -82 MRET=TH| 5 |18
N 64 - 83 FRET=TH| 3 |16
JNER | 64 -83 MRET=TH| 3 |17
JNER | 64 -83 MREIT=TH| 3 |17
N 64 - 83 FRET=TH| 3 |18
JNER | 64 -83 MRET=TH| 3 |18
INER | 64 -84 HRET=TH| 5 |22
N 64 -84 HFRRT=TH| 5 |22
INER | 64 -84 hRET=TH| 5 |23
INER | 64 -84 HRET=TH| 5 |23
N 64 - 85 HFRET=TH| 5 |21
INER | 64 -86 hRET=TH| 3 |17
INER | 64 -86 HRET=TH| 3 |17
N 64 - 87 HPRET=TH| 3 |11
INER | 64 -88 HRBET=TH| 3 |10
JNER 64 - 89 PRET=TH| 3 | 9
N 64 -89 YT =TH| 3 | 9
JNER 64 - 90 HRET=TH| 3 | 8
JNER 64 - 90 HRET=TH| 3 | 8
N 64 - 90 YT =TH| 3 | 8
JNER 64 - 90 HRET=TH| 3 | 8
JNER 64 - 91 HIRET=TH| 3 | 7
NG 64 - 91 PRET=TH| 3 | 7
JNER 64 - 91 HFRET=TH| 3 | 7
JNER 64 - 91 HFRET=TH| 3 | 7
ANE | 64 -92 T =TH| 3 |19
JNER 64 - 93 HFRET=TH| 3 | 3
JNER 64 - 94 HFRET=TH| 3 | 2
ANEE | 64 - 97 HRT=TH| 4 |25
ANEE | 64 - 97 HRT=TH| 4 |25

_53_




RN

m E & £ R FoE B X R
ARSI w4 ;% R .
JNER| 64 -97 MRET=TH| 4 |26
N 64 - 99 FRET=TH| 4 |24
N 64 - 99 FRET=TH| 4 |24
/N 64 - 99 FRET=TH| 4 |24
N 64 - 99 FRET=TH| 4 |24
N 64 - 99 FRET=TH| 4 |24
JNER ] 64 -100 MRIT=TH| 4 |24
JNER | 64-100 MRIT=TH| 4 |24
JNER | 64 - 101 MREIT=TH| 4 | 3
ANEE | 64 -101 MRIT=TH| 4 | 3
N 64 - 103 PRI =TH| 4 |23
N 64 - 103 PRRT=TH| 4 |23
N 64 - 103 PRI =TH| 4 |24
N 64 - 105 PRRT=TH| 4 |23
N 64 - 105 PRRT=TH| 4 |23
N 64 - 105 PRI =TH| 4 |23
N 64 - 105 PRRT=TH| 4 |23
N 64 - 105 HPRET=TH| 4 |23
N 64 - 106 FRET=TH| 4 |20
N 64 - 106 FRET=TH| 4 |20
N 64 - 106 HFRET=TH| 4 |20
N 64 - 106 HFRET=TH| 4 |21
N 64 - 106 HFRET=TH| 4 |21
N 64 - 106 FRET=TH| 4 |21
N 64 - 106 FRET=TH| 4 |21
/ANE ] 64 -106 ORI =TH| 4 |21
/ANE ] 64 -106 ORI =TH| 4 |21
ANE 64 -107 HRIT=TH| 4 |17
ANE 64 -107 ORI =TH| 4 |18
ANE 64 -107 ORI =TH| 4 |18
ANE 64 -107 HMRT=TH| 4 |19
ANE 64 -107 HMRIT=TH| 4 |24
NG 64 - 107 HRET=TH| 5 | 5

_54_




RN

m E & £ R ;oE OB O£ R
ARSI %ﬁméé;%%g .
JNER| 64 -107 HRUT=TH| 5 | 5
VAR 64 -107 MRET=TH| 5 | 5
VAR 64 -107 MRET=TH| 5 | 5
JNER ] 64-109 MRIT=TH| 4 |24
JNER ] 64-109 MRIT=TH| 4 |24
JNER ] 64-109 MRIT=TH| 4 |24
JNER ] 64-109 MRIT=TH| 4 |24
VAR 64-110 MRET=TH| 9 |25
VAR 64 - 111 MRIT=TH| 6 | 6
N 64— 111 M =T H| 6 |12
N 64— 114 T =T H| 1|21
N 64— 114 R =T H | 11 |24
/N 64-115 HRmT=TH| 9 |33
N 64117 T =T H| 10 |21
N 64119 g =T H| 10 |11
/N 64-120 g =T H| 10 |11
/N 64-120 g =T H| 10 |11
/N 64-125 T =T H| 10 |11
/N 64-126 T =T H| 10 |11
N 64 - 127 T =T H| 10 |11
N 64 - 127 T =T H| 10 |11
N 64 - 127 T =T H| 10 |11
/N 64-128 W =T H| 10 | 9
/N 64-128 T =T H| 10 | 9
/N 64-128 T =T H| 10 | 9
/N 64 -128 HHgmT =T H| 10 | 10
/N 64 -129 HRET=TH| 1 | 3
/N 64 -129 HRET=TH| 1 | 3
/N 64 -129 HRET=TH| 1 | 3
/N 64 -129 HRET=TH| 1 | 3
/N 64130 HRET=TH| 1| 1
/N 64130 HRET=TH| 1| 2
/N 64130 HRET=TH| 1| 2

_55_




RN

m E & £ R FoE B X R
ARSI w4 ;% R .
JNER| 64130 MREIT=TH| 1 |24
JNER | 64-133 MRIT=TH| 10 | 4
JNER | 64-133 MRET=TH| 10 | 5
JNER | 64-133 MRET=TH| 10 | 5
JNER | 64-133 MRET=TH| 10 | 5
JNER | 64-136 MRIT=TH| 10 |11
JNER | 64-138 MRIT=TH| 10 |19
JNER | 64-138 HRIT=TH| 10 |20
JNER] 64-139 MREIT=TH| 10 |17
N 64 - 139 LRI =T H| 10 | 17
N 64 - 140 BT =TH| 10 |11
N 64 - 141 FRET=TH| 9 |30
N 64 - 141 FRET=TH| 9 |30
N 64 - 141 FRET=TH| 9 |30
N 64 - 142 LRI =TH| 10 |11
N 64 - 142 LRI =TH| 10 |11
N 64 - 142 LRI =TH| 10 |11
N 64 - 142 R =T H| 10 |11
N 64 - 143 LRI =T H| 10 | 12
N 64 - 143 LRI =T H| 10 |12
N 64 - 143 LRI =T H| 10 |12
N 64 - 143 LB =T H| 10 |12
N 64 - 143 BT =TH| 10 |13
N 64 - 143 BT =TH| 10 |13
N 64 - 147 HFRET=TH| 5 |19
ANER 64 - 147 HRT=TH| 5 |19
ANER 64 - 147 HRT=TH| 5 |19
ANER 64 - 147 HRT=TH| 5 |19
ANER 64 - 147 HRT=TH| 5 |19
ANER 64 - 147 HRT=TH| 5 |19
ANER 64 - 147 HRT=TH| 5 |23
ANER 64 - 147 HRT=TH| 5 |24
/ANE ] 64 -150 HRIT=TH| 5 |17

_56_




RN

m E & £ R FoE B X R
ARSI w4 ;% R .
JNER| 64 -150 MRET=TH| 5 |17
JNER | 64 -150 MREIT=TH| 5 |17
JNER | 64 -155 MRIT=TH| 2 | 2
JNER | 64 -155 MREIT=TH| 2 | 3
JNER | 64 -155 MRET=TH| 8 |25
JNER | 64 -155 MREIT=TH| 8 |25
JNER | 64 -155 MRET=TH| 8 |25
JNER | 64 -155 MRET=TH| 8 |25
JNER | 64 -155 MREIT=TH| 8 |25
ANEE | 64 -156 TRAT=TH| 2 | 4
ANEE | 64 - 157 MREIT=TH| 2 | 5
ANEE | 64 - 157 MRIT=TH| 2 | 5
ANEE | 64 - 157 MREIT=TH| 2 | 5
ANEE | 64 - 157 MRIT=TH| 2 | 5
ANEE | 64 - 157 MRIT=TH| 2 | 5
/ANEE | 64 -158 TRET=TH| 2 | 6
/ANEE | 64 -158 MRET=TH| 2 | 7
/ANER | 64 -158 FRET=TH| 2 | 7
/ANER | 64 -158 PORET=TH| 2 | 8
N 64 - 159 HRET=TH| 2 |18
N 64 - 159 PIRET=TH| 2 |18
N 64 - 159 HIRET=TH| 2 |18
N 64 - 160 HIRET=TH| 2 |15
N 64 - 161 HRET=TH| 2 |13
N 64 - 161 HRET=TH| 2 |14
NG 64 - 163 HFRET=TH| 2 | 7
NG 64 - 164 HFORET=TH| 2 | 9
NG 64 - 164 HFORET=TH| 2 | 9
ANE 64 - 164 T =TH| 2 |10
ANE ] 64 - 164 T =TH| 2 |10
NG 64 - 165 BT =TH| 10 |11
NG 64 - 165 BT =TH| 10 |11
NG 64 - 166 BT =TH| 11 | 8
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RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
JNER| 64 - 166 MRET=TH| 11| 8
JNER | 64 - 167 MRIT=TH| 11| 9
/NER | 64 -168 MREIT=TH| 6 |17
/NER | 64 -168 MRET=TH| 6 |18
JNER | 64 -168 MREIT=TH| 6 |18
/NER | 64 -168 MREIT=TH| 6 |18
/NER | 64 -168 MRET=TH| 6 |18
JNER | 64 -168 MREIT=TH| 6 |18
VAR 64 -1T1 MRET=TH| 1 |17
N 64 - 173 PRI =TH| 9 |27
N 64 -174 PRI =TH| 9 |27
N 64 -174 PRI =TH| 9 |27
ANEE | 64 -176 PRET=TH| 7 | 9
JANER | 64177 MRIT=TH| 7 | 9
ANEE | 64 -178 TRET=TH| 7 | 3
ANEE | 64-178 TRET=TH| 7 | 3
ANEE | 64-178 TRET=TH| 7 | 3
ANER | 64 -179 FRET=TH| 7 | 5
ANER | 64 -179 FRET=TH| 7 | 6
N 64 - 182 HRET=TH| 6 |14
N 64 - 182 HRET=TH| 6 |15
N 64 - 183 HRET=TH| 6 |13
N 64 - 183 HRET=TH| 6 |13
N 64 - 184 HRET=TH| 6 |13
/ANER | 64187 MIRET=TH| 1 | 4
NG 64 - 187 HFORET=TH| 1 | 4
NG 64 - 187 HFORET=TH| 1 | 4
NG 64 - 187 HFORET=TH| 1 | 4
NG 64 - 187 HFORET=TH| 1 | 4
/ANE ] 64-188 ORI =TH| 9 |21
ANER ] 64-189 HRT=TH| 1 |11
NG 64 - 189 BT =T H| 10 | 16
NG 64 - 189 BT =T H| 10 | 16

_58_




RN

m E & £ R FoE B X R
K T f
TEUARE BooE A4 % ® B

JNERC| 64192 MRET=TH| 11 |13
VAR | 64 -192 MRET=TH| 11 |13
JNER | 64-193 MRIT=TH| 11 |14
JNER | 64-193 MRET=TH| 11 |15
JNER | 64-193 MRET=TH| 11 |15
VAR 64-194 MRIT=TH| 11 |16
VAR 64-194 MRIT=TH| 11 |16
JNER ] 64-195 MRIT=TH| 9 |24
JNER ] 64-196 MRET=TH| 9 |15
N 64 - 196 PRI =TH| 9 |15
N 64 - 196 HFRET=TH| 9 |15
N 64 - 196 PRI =TH| 9 |15
N 64 - 196 PRI =TH| 9 |15
N 64 - 196 PRI =TH| 9 |15
N 64 - 196 PRI =TH| 9 |15
N 64 - 196 PRI =TH| 9 |15
N 64 - 196 PRI =TH| 9 |15
N 64 - 196 HIRET=TH| 9 |15
N 64 - 197 HIRET=TH| 5 |12
N 64 - 198 HIRET=TH| 5 |12
N 64 - 200 HIRET=TH| 9 |17
N 64 - 200 HIRET=TH| 9 |17
N 64 - 201 HPIRET=TH| 2 |12
N 64 - 201 HIRET=TH| 2 |12
N 64 - 201 HPRET=TH| 2 |13
ANEE ] 64 - 201 ORI =TH| 2 |13
/ANE 64 - 206 ORI =TH| 1 |12
/ANE ] 64 - 206 ORI =TH| 1 |12
ANER 64 - 207 HRT=TH| 8 |16
/ANE ] 64 -208 HRT=TH| 8 |21
/ANER 64 -208 HRT=TH| 8 |21
NG 64 - 210 HFORET=TH| 9 | 1
NG 64 - 211 HFORET=TH| 9 | 7

_59_




RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% EE !
NEE | 64-211 MRET=TH| 9 | 8
ANEE | 64 -211 MREIT=TH| 9 | 8
ANEE | 64 -211 MREIT=TH| 9 | 8
ANEE | 64 -211 MREIT=TH| 9 | 8
ANEE | 64 -212 TRET=TH| 9 | 8
ANEE | 64 -212 TRAT=TH| 9 | 9
ANEE | 64 -212 TRAT=TH| 9 |10
ANEE | 64 -213 TRAT=TH| 9 |10
ANEE | 64 -214 TRAT=TH| 9 | 6
ANEE | 64 -216 PORAET=TH| 10 |11
ANEE | 64 -216 FORAET=TH| 10 |15
ANEE | 64 -216 FORAET=TH| 10 |15
ANEE | 64 - 264 TRET=TH| 6 | 5
ANEE | 64 - 264 TRET=TH| 6 | 5
ANEE | 64 - 264 TRET=TH| 6 | 5
ANEE | 64 - 267 MRIT=TH| 5 |16
ANEE | 64 - 267 MRIT=TH| 6 |26
ANER | 64 - 267 MRET=TH| 6 |26
/ANER | 64 - 268 FORET=TH| 6 |20
/ANER | 64 - 268 FORET=TH| 6 |20
ANER | 64 -270 FRET=TH| 4 | 4
ANER | 64 -270 FRET=TH| 4 | 5
ANER | 64 -270 FRET=TH| 4 | 6
ANEE | 64 -2T71 MRET=TH| 2 |15
ANER | 64 -273 MRET=TH| 6 | 6
JNER 64 - 274 HFRET=TH| 1 | 7
JNER 64 - 274 HFHRET=TH| 1 | 9
ANE L 64 -274 HRT=TH| 1 |10
ANE 64 - 274 HRT=TH| 1 |10
ANER | 64 -274 HROET=TH| 1 |11
ANER | 64274 HOHT=TH| 6 | 5
JNER 64 - 274 HHRHET=TH| 6 | 5
JNER 64 - 274 HHRHET=TH| 6 | 5

_60_




RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
INER| 64 -274 HRT=TH| 6 | 5
VAR 64 -274 MRIT=TH| 6 | 5
VAR 64 -275 MRIT=TH| 6 |20
VAR 64 -275 MRIT=TH| 6 |26
JNER | 64 -280 MREIT=TH| 1 |23
JNER | 64 -281 MRET=TH| 1 |22
JNER | 64 -281 MRET=TH| 1 |22
JNER | 64 -282 MRET=TH| 1 | 5
JNER | 64 -287 MRIT=TH| 2 | 4
/ANEE | 64 - 287 MRIT=TH 3 | 1
ANEE | 64 - 297 MRIT=TH| 2 | 6
ANEE | 64 - 297 MRIT=TH| 2 | 6
ANEE | 64 - 297 MRIT=TH| 2 | 6
ANEE | 64 - 297 MRIT=TH| 2 | 6
ANEE | 64 - 297 MRIT=TH| 2 | 6
ANEE | 64 - 297 MRIT=TH| 2 | 6
N 64 - 298 HFRET=TH| 1 |15
N 64 - 299 HRIRET=TH| 1 |17
N 64 - 304 HRET=TH| 10 | 6
N 64 - 305 BT =T H| 10 |26
N 64 - 306 R =T H| 10 | 25
N 64 - 306 BT =T H| 10 | 25
N 64 - 307 BT =T H| 10 |23
N 64 - 307 HFRET=TH| 10 |24
N 64 - 307 HFRET=TH| 10 |24
NG 64 - 308 BT =T H| 10 |22
NG 64 - 309 BT =TH| 10 |11
/ANE ] 64 -310 HRT=TH| 8 |25
NG 64 - 310 HFORET=TH| 9 | 5
NG 64 - 310 HFORET=TH| 9 | 5
ANEE ] 64 - 311 HRT=TH| 9 |30
ANEE ] 64 - 311 HRT=TH| 9 |31
ANEE ] 64 - 311 HRT=TH| 9 |31

_61_




RN

m E & £ R FoE B X R
ARSI w4 ;% R .
JNER| 64 -311 MREIT=TH| 9 |31
JNER | 64 -311 MRIT=TH| 9 |32
JNER | 64 -311 MRET=TH| 9 |32
JNER | 64 -311 MREIT=TH| 9 |32
JNER | 64 -311 MRIT=TH| 9 |32
JNER | 64 -311 MRET=TH| 9 |32
JNER | 64 -311 MREIT=TH| 9 |32
JNER | 64 -311 MREIT=TH| 9 |32
JNER | 64 -311 MREIT=TH| 9 |32
N 64 - 311 HFRRT=TH| 9 |32
N 64 - 311 HFRRT=TH| 9 |32
N 64 - 311 HFRRT=TH| 9 |32
/ANEE | 64 -313 MRET=TH| 3 | 3
/ANEE | 64 -315 MRIT=TH| 3 | 6
/ANEE | 64 -315 MRIT=TH| 3 | 6
N 64 - 319 PRI =TH| 8 |26
N 64 - 322 PRI =TH| 2 |17
N 64 - 324 HPIRET=TH| 8 |22
N 64 - 325 HFRET=TH| 3 |20
N 64 - 327 HFRET=TH| 3 |21
N 64 - 328 HFRET=TH| 3 |21
N 64 - 332 HIRET=TH| 6 |25
N 64 - 332 HIRET=TH| 6 |25
/ANER | 64 -334 PORET=TH| 8 | 1
N 64 - 335 HIRET=TH| 5 |25
/ANE | 64 -335 HRT=TH| 5 |25
/ANE ] 64-335 HRT=TH| 5 |25
/ANE ] 64 -335 HRT=TH| 5 |26
NG 64 - 335 HFORET=TH| 8 | 4
NG 64 - 335 HFORET=TH| 8 | 4
NG 64 - 337 HFORET=TH| 1 | 9
NG 64 - 342 HFORET=TH| 5 | 1
ANER 64 - 344 HORT=TH| 1 |20

_62_




RN

m E & £ R o B X R
ARSI %ﬁméé;%%g .
JNER| 64345 MRET=TH| 1 |18
JNER | 64 -351 MREIT=TH| 8 | 8
VAR 64 -354 MRIT=TH| 8 |22
VAR | 64 -354 MREIT=TH| 8 |22
JNER | 64 -356 MRIT=TH| 8 |24
JNER | 64 - 357 MRIT=TH| 4 |19
JNER | 64 -358 MRET=TH| 7 |13
JNER | 64 -358 MRET=TH| 7 |13
JNER | 64 -359 MRIT=TH| 1 |24
/N 64 - 362 R =T H| 10 | 8
/N 64 - 364 M =T H| 8 |23
/N 64 - 364 M =T H| 8 |23
/N 65 -1 M =T H| 14 | 3
/N 65 -1 M =T H| 14 | 3
/N 65 -1 HRBT=TH| 14 | 4
/N 65 -1 HRMT=TH| 14 | 4
/N 65 -1 R =T H| 14 | 4
/N 65 -1 BT =T H| 14 | 4
/N 65 -1 BT =T H| 14 | 4
/N 65 -1 BT =TH| 14 | 5
/N 65 -1 BT =TH| 14 | 5
/N 65 -1 BT =TH| 14 | 5
/N 65 -1 BT =TH| 14 | 5
/N 65 -1 BT =TH| 14 | 5
/N 65 -1 BT =TH| 14 | 5
/ANE | 65 -1 HRET=TH| 14| 5
/ANE | 65 -1 HRET=TH| 14| 5
/ANE | 65 -1 HRET=TH| 14| 5
/ANE | 65 -1 HRET=TH| 14 | 6
/ANE | 65 -1 HRET=TH| 14 | 7
/ANE | 65 -1 HRET=TH| 14 | 7
/ANE | 65 -1 HRET=TH| 14 | 7
/ANE | 65 -1 HRET=TH| 14 | 7

_63_




RN

m E & £ R ;oE OB O£ R
ARSI %ﬁméé;%%g .
NEE |65 -1 R =T H| 14 | 7
/N 65 -1 R =T H | 14 |24
/N 65 -1 W =T H| 14 |24
/N 65 -1 R =T H| 14 |25
/N 65 -1 R =T H| 14 |25
/N 65 -1 R =T H| 14 |25
/N 65 -2 gl =T H| 12 |11
/N 65 -2 gl =T H| 12 |11
/N 65 -2 g =T H| 12 |11
/N 65 -2 T =T H| 12 |11
/N 65 -2 T =T H| 12 |11
/N 65 -2 T =T H| 12 |11
/N 65 -2 T =T H| 12 |11
/N 65 -2 T =T H| 12 |11
/N 65 -2 T =T H| 12 |11
/N 65 -2 T =T H| 12 |11
/N 65 -2 T =T H| 12 |11
/N 65 -2 R =T H| 12 |13
/N 65 -2 R =T H| 12 |13
/N 65 -2 R =T H| 12 |13
/N 65 -2 R =T H| 12 |13
/N 65 -2 R =T H| 12 |13
/N 65 -2 R =T H| 12 |13
/N 65 -2 R =T H| 12 |13
/N 65 -2 R =T H| 12 |13
NS 65 -3 PHART—TH| 4 | 3
JNER | 65 -8 WA —TH| 2 |18
JANER | 65 -8 AT —TH| 2 |18
JNER | 65 -8 FEAIT—TH| 2 |19
JNER | 65 -8 FEAIT—TH| 2 |19
/NER | 65 -8 FEARIT—TH| 2 |20
JNER | 65 -8 FEAIT—TH| 2 |20
JNER | 65 -8 FEAIT—TH| 2 |20

_64_




RN

m E & £ R o B X R
ARSI %ﬁméé;%%g b
/N 65 -8 FAIT—TH| 2 |20
/NER | 65 -8 FAIT—TH| 2 |21
/NER | 65 -8 FAIT—TH| 2 |21
/N 65 -9 R =T H| 15 | 2
/N 65 -9 R =T H| 15 | 3
/N 65 -9 R =T H| 15 | 3
/N 65 -9 R =T H| 15 | 3
/N 65 -9 R =T H| 15 | 3
/N 65 -9 R =T H| 15 | 3
/N 65 -9 R =T H| 15 | 4
/N 65 -9 R =T H| 15 | 4
/N 65 -9 R =T H| 15 | 4
/N 65 -9 M =T H| 15 | 5
/N 65 -9 R =T H| 15| 6
/N 65 -9 R =T H| 15| 6
/N 65 -9 R =T H| 15| 6
/N 65 -9 R =T H| 15 | 7
/N 65 -9 BT =T H| 15 | 7
/N 65 -9 BT =T H| 15 | 8
/N 65 -9 BT =T H| 15 | 8
/N 65 -9 HRmT=TH| 15 | 8
/N 65 -9 HRmT=TH| 15 | 8
VB | 659 HRBET=TH| 15 | 10
VB | 659 HRBET=TH| 15 | 10
VB | 659 HRBET=TH| 15 | 10
/ANEE | 656 -9 HRBET=TH| 15 | 10
/ANEE | 656 -9 HRBET=TH| 15 |31
NS 65 - 10 AT —TH| 7 | 1
JNEE | 6511 FEARNT—TH| 1 |46
JNEE | 6511 FEARNT—TH| 1 |46
JNEE | 6511 PEARNT—TH| 1 |46
JNEE | 6511 FEARNT—TH| 1 |46
JNEE | 6511 PEARRT—TH| 1 |47

_65_




RN

m E & £ R o B X R
ARSI %ﬁméé;%%g .
JNER| 65 - 11 PRI —TH| 1 |47
VB | 6511 FEANT—TH| 1 |48
VB | 6511 FEARNT—TH| 1 |49
VB | 6511 FEARNT—TH| 1 |49
VB | 6511 FEARIT—TH| 1 |49
VB | 6511 FEARNT—TH| 1 |49
VB | 6511 FEARNT—TH| 1 |49
/NER | 65 - 16 FEAIT—TH| 1|3
/NER | 65 - 16 FEAIT—TH| 1|3
/NEE | 65 - 16 FEAIT—TH| 1 |16
/NEE | 65 - 16 FEAIT—TH| 1 |16
/NEE | 65 - 16 FEAIT—TH| 1 |16
/NEE | 65 - 16 PEARNT—TH| 1 |43
/NEE | 65 - 16 FEARIT—TH| 1 |44
/NEE | 65 - 16 FEARIT—TH| 1 |44
/NEE | 65 - 16 FEARIT—TH| 1 |44
/NEE | 6518 PEAIT—TH| 1 |15
/NEE | 6518 FEARIT—TH| 2 |17
/NEE |65 -21 FEARIT—TH| 1 |14
/NEE |65 -21 FEARIT—TH| 1 |14
/NEE | 65 -21 PEARET—TH| 1 |45
/NEE |65 -21 PEARBT—TH| 1 |45
/N 65 -27 W =T H| 15 | 19
/N | 65 -27 gl =T H| 15 | 19
JNEE | 65 -29 FEARIT—TH| 3 | 8
/NEE | 6529 WA —TH| 3 | 8
/NEE | 6529 WA —TH| 3 | 8
/NEE | 6529 WA —TH| 3 | 8
/NEE | 6529 WA —TH| 3 | 8
/NEE | 6529 WA —TH| 3 | 8
/NEE | 6529 WA —TH| 3 | 8
/NEE | 6529 WA —TH| 4 | 3
/NEE | 6529 WA —TH| 4 | 8

_66_




RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
JNER| 65 -29 AN —TH| 4|9
JNER | 65 -29 FEAIT—TH| 4 |21
JNER |65 -29 FEAIT—TH| 4 |21
JNER |65 -29 FAIT—TH| 4 |21
JNER | 65 -29 FEAIT—TH| 4 |21
JNER |65 -29 FEAIT—TH| 4 |22
JNER |65 -29 FEANT—TH| 4 |22
JNER |65 -29 PRI —TH| 4 |22
JNER |65 -29 FEAIT—TH| 4 |22
JNEE |65 -29 PEAIT—TH| 5 | 8
/| 65 -33 T =T H| 13 | 1
/N | 65 -33 R =T H| 13 | 8
/N | 65 -33 R =T H| 13 | 9
/N | 65 -33 R =T H| 13 | 9
/N | 65 -33 R =T H| 13 | 9
/N | 65 -33 R =T H| 13 | 9
/N | 65 -33 R =T H| 13 |23
/N | 65 -33 T =T H| 13 |24
/N | 65 -33 HHgemT =T H| 13 |25
/N | 65 -33 gl =T H| 13 |25
/N | 65 -33 g =T H| 13 |26
/N | 65 -33 T =T H| 13 |26
/N | 65 -33 T =T H| 13 |26
/N | 65 -33 g =T H| 13 |26
/N | 65 -33 g =T H| 13 |26
/ANEE | 65 -39 HRBET=TH| 15 | 10
/ANEE | 65 -39 HRBET=TH| 15 | 10
/ANEE | 65 -39 HRBET=TH| 15 | 10
/ANEE | 65 -39 HRBET=TH| 15 | 10
/ANEE | 65 -39 HRBET=TH| 15 | 10
/ANE | 65 -39 HRBET=TH| 15 | 10
/ANEE | 65 -39 HRET=TH| 15 |11
/ANEE | 65 -39 HRET=TH| 15 |11
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RN

m E & £ R o B X R
ARSI wom éz.;% R .
JNER| 65 -39 HRET=TH| 15 |11
/N |65 -39 R =T H| 15 |12
/N |65 -39 R =T H| 15 |12
/|65 -39 R =T H| 15 |12
/N |65 -39 R =T H| 15 |12
/N |65 -39 R =T H| 15 |12
/|65 -39 R =T H| 15 |12
/N |65 -39 R =T H| 15 |12
/N |65 -39 R =T H| 15 |12
/N |65 -39 T =T H| 15 |12
/NEE | 65 -39 FEARIT—TH| 4 | 4
/NEE | 65 -39 FEARIT—TH| 4 | 4
JNEE | 65 -43 FEAIT—TH| 3 |19
JNEE | 65 -43 FEAIT—TH| 3 |19
/| 65 -5l R =T H| 12 |26
/| 65 -5l R =T H| 12 |26
/| 65 -5l R =T H| 12 |26
/N | 65 - 52 R =T H| 13 |22
/N | 65 - 52 R =T H | 13 |22
/N | 65 -53 W =T H| 14 | 10
/N | 65 -53 T =T H| 14 |11
/N[ 65 -53 T =T H| 14 |11
/N | 65 -53 BT =T H| 14 |11
/N | 65 -53 T =T H| 14 |11
/N | 65 -53 T =T H| 14 |11
/NE | 65 -53 HRET=TH| 14 |13
/NE | 65 -53 HRET=TH| 14 | 14
/NE | 65 -53 HRET=TH| 14 | 14
/NE | 65 -53 HRET=TH| 14 | 14
/NE | 65 -53 HRET=TH| 14 | 14
/NE | 65 -53 HRET=TH| 14 | 14
/NE | 65 -53 HRET=TH| 14 |15
/NE | 65 -53 HRET=TH| 14 |15
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RN

m E & £ R o B X R
ARSI %ﬁméé;%%g .
/NER | 65 -53 MRET=TH| 14 |15
/| 65 -53 W =T H| 14 | 16
/| 65 -53 M =T H| 14 | 16
/| 65 -53 M =T H| 14 |16
/| 65 -53 W =T H| 14 | 16
/| 65 -53 M =T H| 14 | 16
/| 65 -53 M =T H| 14 |16
/| 65 -53 R =T H | 14 |17
/| 65 -53 R =T H | 14 |17
/N | 65 -53 T =T H| 14 |17
/N | 65 -53 R =T H| 14 |17
/N | 65 -53 M =T H | 14 |20
/N | 65 -53 T =T H| 14 |21
/N | 65 -53 R =T H| 15 |28
/N | 65 -53 R =T H| 15 |28
/NEE | 65 - 54 FEARIT—TH| 1| 4
/NEE | 65 - 54 FEARIT—TH| 1| 4
/NEE | 65 - 54 PEARRT—TH| 1| 5
/NEE | 65 54 FEARIT—TH| 1| 6
/NEE | 65 54 PRI —TH| 1|7
/NEE | 65 - 54 PEARIT—THl 1|9
/NEE | 65 54 PEARIT—TH| 1 |11
/NEE | 65 54 PEARIT—TH| 1 |11
/NEE | 65 - 54 PEARIT—TH| 1 |50
/NEE | 65 -55 AT —TH| 2 | 1
/NEE | 65 55 AT —THl 2 |1
/NEE | 65 55 AT —THl 2 | 1
/NEE | 65 55 AT —THl 2 | 1
/NEE | 65 55 WA —TH| 2 | 2
/NEE | 65 55 WA —TH| 2 | 2
/NEE | 65 55 WA —TH| 2 | 3
/NEE | 65 55 WA —TH| 2 | 3
/NEE | 65 55 FEARRT—TH| 2 |22
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RN

m E & £ R ;oE OB O£ R
ARSI %ﬁméé;%%g .
/NER | 65 -56 FAI—TH| 3 | 1
/NER | 65 - 56 FEAIT—TH| 3 | 3
/NER | 65 - 56 FEAIT—TH| 3|3
/NER | 65 - 56 FEAIT—TH| 3 | 4
/NER | 65 - 56 FEAIT—TH| 3 | 4
/NEE | 65 -61 FAIT—TH| 4 | 1
/NEE | 65 -61 FANT—TH| 4 | 1
/NEE | 65 -61 FEAIT—TH| 4 | 1
/NEE | 65 -61 FAIT—TH| 4 | 1
/NEE | 65 -61 FEANT—TH| 4 | 3
/NEE | 65 -61 FEANT—TH| 4 | 3
/NEE | 65 -61 FEANT—TH| 4 | 3
/NEE | 65 -61 FEANT—TH| 4 | 3
/NEE | 65 -61 FEANT—TH| 4 | 3
/NEE | 65 -61 FEANT—TH| 4 | 5
/NEE | 65 -61 PEANT—TH| 4 |25
/N | 65 - 62 M =T H| 15 | 26
/N | 65 - 62 W =T H| 15 | 26
/N | 65 -63 T =T H| 15 |12
/N | 65 -63 T =T H| 15 |12
/N | 65 - 66 T =T H| 15 |12
/N[ 65 - 66 R =T H| 15 |13
/N[ 65 - 66 T =T H| 15 | 14
/N | 65 - 66 T =T H| 15 | 14
/N | 65 - 67 g =T H| 15 |17
/ANE | 65 - 69 HRBET=TH| 15 |16
/NEE | 6570 PEARRT—TH| 1 |43
/NEE | 6570 PEARRT—TH| 1 |43
/NEE | 6570 PEARRT—TH| 1 |43
/NEE | 6570 PEARRT—TH| 1 |43
/NEE |65 -70 PEARRT—TH| 1 |43
/NEE | 6570 PEARRT—TH| 1 |43
/NEE | 6570 PEARRT—TH| 1 |43
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RN

m E & £ R o B X R
ARSI w4 ;% R .
/NER| 6570 FART—TH| 1 |43
JNER | 65 =70 FEARNT—TH| 1 |43
JNER | 65 - 70 FEARNT—TH| 1 |43
JNER | 65 - 70 FEANT—TH| 1 |43
JNER | 65 -70 FEARNT—TH| 1 |43
JNER | 65 - 70 FEARNT—TH| 1 |43
/N 65 -TT T =T H| 12 | 1
/N 65 -TT HRWMT=TH| 12 | 6
/N | 6578 R =T H| 14 | 2
/N 65 - T8 R =T H| 14 |26
/N 6578 T =T H | 14 |27
/N 65 - T8 M =T H| 14 |28
/N 65 - T8 R =T H| 14 |28
/N 6579 T =T H| 12 | 6
/N 6579 T =T H| 12 | 6
/N 6579 W =T H | 12 | 10
/NEE | 65 -81 FEARIT—TH| 3 |14
/NEE | 65 -81 FEARIT—TH| 3 |14
/N | 65 - 82 T =T H| 13 | 1
/N | 65 -83 R =T H| 13 | 3
/N | 65 -83 R =T H| 13 | 3
/N 65 -84 R =T H| 12 |13
/N 65 -84 R =T H| 12 |13
/N 65 -84 BT =T H| 13 | 5
/N | 65 -85 T =T H| 13 | 6
/ANEE | 65 -85 HRET=TH| 13 | 6
/NEE | 65 - 86 HRET=TH| 13| 7
/ANEE | 65 - 87 HRET=TH| 13| 7
/ANEE | 65 - 87 HRET=TH| 13| 7
/ANEE | 65 - 88 HRET=TH| 12 |24
/ANE | 65 - 88 HRET=TH| 12 |25
/ANEE | 65 -89 HRET=TH| 12 |22
/ANEE | 6590 HRET=TH| 12 |21
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RN

m E & £ R o B X R
ARSI w4 ;% R .
JNER| 6590 MRET=TH| 12 |21
/|65 90 gl =T H| 12 |21
/| 65 -93 R =T H| 12 |16
/| 65 -93 R =T H| 12 | 16
/| 65-93 R =T H| 12 | 16
/| 65 -93 R =T H| 12 |16
/| 65 -93 R =T H| 12 | 16
/| 65-93 R =T H| 12 | 16
/N | 65 -93 R =T H| 12 |16
/| 65 -93 R =T H| 12 | 16
/N | 6596 M =T H| 14 |26
/N | 6597 R =T H | 14 |24
/NEE | 65 - 98 FEAIT—TH| 3 |17
/NEE | 65 -99 FEAIT—TH| 3 |17
JNEE |65 -102 FEAIT—TH| 3| 6
JNEE | 65 -102 FEAIT—TH| 3| 6
JNEE | 65102 FEAIT—TH| 3| 6
/NEE | 65105 FEARIT—TH| 2 |17
/NE | 65106 FEARIT—TH| 2 |16
/NE | 65106 FEARIT—TH| 2 |16
/NE | 65106 FEARIT—TH| 2 |16
/NE | 65107 FEARIT—TH| 2 |16
/NE | 65107 FEARIT—TH| 2 |16
/NE | 65107 FEARIT—TH| 2 |16
/NE | 65107 FEARIT—TH| 2 |16
/NE | 65107 AT —TH| 2 |16
/NE | 65108 WA —TH| 2 |12
/NE | 65108 FEARRT—TH| 2 |13
JNEE | 65 - 111 WA —TH| 2 | 7
JNEE | 65 - 112 WA —TH| 2 | 7
JNEE | 65112 WA —TH| 2 | 7
JNEE | 65113 WA —TH| 2 | 8
/NEE | 65115 WA —TH| 4 |21
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RN

m E & £ R o B X R
ARSI w4 ;% R .
JNER| 65 - 116 FAIT—TH| 4 |20
JNER | 65 - 117 FEAIT—TH| 4 |21
JNER | 65 - 117 FEAIT—TH| 4 |21
JNER] 65 -119 FAIT—TH| 4 |21
JNER | 65120 PRI —TH| 4 |14
JNER | 65120 PRI —TH| 4 |14
JNER ] 65120 PRI —TH| 4 |14
JNER | 65120 PRI —TH| 4 |14
JNER |65 - 121 FEAIT—TH| 4 |21
JNEE | 65 -122 FEAIT—TH| 4 |10
JNEE | 65 -122 FEAIT—TH| 4 |11
JNEE | 65 -123 FAIT—TH| 5 | 7
JNEE | 65 -123 FAIT—TH| 5 | 7
JNEE | 65 -123 FAIT—TH| 5 | 7
JNEE | 65 -123 FAIT—TH| 5 | 7
JNEE | 65 -123 FAIT—TH| 5 | 7
JNER | 65124 FEAIT—TH| 4 |12
/N 65125 g =T H| 15 |27
/N 65125 R =T H| 15 |27
/N 65125 R =T H| 15 |27
/N 65125 T =T H| 15 |27
/N 65125 g =T H| 15 |27
/N 65125 T =T H| 15 |27
/N 65125 T =T H| 15 |27
/N 65125 T =T H| 15 |27
/N 65125 g =T H| 15 |27
/N 65125 g =T H| 15 |27
/N 65125 g =T H| 15 |27
/N 65125 g =T H| 15 |27
/N 65125 g =T H| 15 |27
/N 65125 g =T H| 15 |27
/N 65125 g =T H| 15 |27
/N 65125 g =T H| 15 |27
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RN

m E & £ R o B X R
ARSI w4 ;% R .
JNER| 65125 HRET=TH| 15 |27
JNER | 65 -125 MRIT="TH| 15 |27
JNER | 65 -125 MRIT="TH| 15 |27
JNER | 65 -125 MRIT="TH| 15 |27
JNER | 65 -125 MRIT="TH| 15 |27
JNER | 65 -125 MRIT=TH| 15 |27
JNER | 65 -125 MRIT="TH| 15 |27
JNER | 65 -125 MRIT="TH| 15 |27
JNER | 65 -125 MRIT=TH| 15 |27
/N 65125 g =T H| 15 |27
JNEE | 65126 FEARIT—TH| 1 |14
JNEE | 65126 FEARIT—TH| 1 |14
JNER | 65 - 127 FEARIT—TH| 1 |14
/NEE | 65130 FEAIT—TH| 1 |17
/NEE | 65130 FEAIT—TH| 1 |17
JNEE | 65 - 131 PEAIT—TH| 1 |15
JNEE | 65 -133 FAIT—TH| 2 | 7
JNE | 65134 FEARIT—TH| 2 |10
/N 65135 T =T H| 15 |24
/N 65135 g =T H| 15 |25
/NE | 65136 PEARET—TH| 4 |23
/NE | 65136 PEARET—TH| 4 |23
/NE | 65136 PEARET—TH| 4 |23
/NE | 65136 PEARET—TH| 4 |23
JNE | 65136 PEARET—TH| 4 |23
/NEE | 65136 FEARRT—TH| 4 |23
/NE | 65138 FEART—TH| 1 |12
/NE | 65139 WA —TH| 4 | 3
/NE | 65139 WA —TH| 4 | 3
/NE | 65139 WA —TH| 4 | 3
/NE | 65139 WA —TH| 4 | 3
/NEE | 65140 WA —TH| 1 |11
JNEE | 65143 FEARNT—TH| 1 |46
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RN

m E & £ R o B X R
ARSI w4 ;% R .
JNER| 65 -144 FAR—TH| 1 |13
JNER | 65 - 144 FEAIT—TH| 1 |13
JNER | 65 - 144 FEAIT—TH| 1 |13
JNER | 65 - 144 FEANT—TH| 1 |13
JNER | 65 - 144 FEAIT—TH| 1 |13
JNER | 65 - 144 FEAIT—TH| 1 |13
JNER | 65 - 144 FEANT—TH| 1 |14
JNER | 65 - 144 FEANT—TH| 1 |14
JNER | 65 - 145 MRET=TH| 13 |10
/N | 65 - 145 HgRmT =T H | 13 | 10
/N | 65 - 145 g =T H| 13 |11
/N | 65 - 145 R =T H| 13 |23
/N | 65 - 146 gl =T H| 13 |21
/N |65 - 147 M =T H| 13 |13
/N |65 - 147 g =T H | 13 |20
/N |65 - 147 HgmT =T H | 13 |20
/N | 65 - 148 R =T H| 13 | 14
/N | 65 - 148 T =T H | 14 |19
/N | 65 - 149 g =T H| 13 |15
/N | 65 - 149 g =T H| 13 |15
/N | 65 - 149 g =T H | 13 |17
/NE | 65150 PEARIT—TH| 2 |18
/N 65 - 151 R =T H| 14 |23
/NE | 65153 PEARIT—TH| 3 |10
/NE | 65153 FEARIT—TH| 3 |10
/NE | 65153 PEARRT—TH| 3 |15
/NE | 65153 PEARRT—TH| 3 |15
/NE | 65153 WA —TH| 4 |19
/NE | 65153 FEARIT—TH| 4 |19
/NE | 65153 FEARIT—TH| 4 |19
/NE | 65153 AT —TH| 4 |19
/NE | 65153 FEARIT—TH| 4 |19
/NE | 65153 FEARIT—TH| 4 |19
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RN

m E & £ R o B X R
ARSI w4 ;% R .
JNER| 65 - 153 FAI—TH| 4 |19
JNER | 65 -153 FEAIT—TH| 4 |19
JNER | 65 -153 FEAIT—TH| 4 |19
JNER | 65 - 153 FEAIT—TH| 4 |19
JNER | 65 -153 FEAIT—TH| 4 |19
JNER | 65 -154 MRIT=TH| 15 |21
JNER | 65 - 154 MRIT=TH| 15 |23
JNER | 65 -155 MRIT=TH| 15 | 20
JNER | 65 -156 MRIT=TH| 15 |20
/N | 65 - 156 gl =T H| 15 |23
/NEE | 65 - 157 FEAIT—TH| 3 | 1
/NEE | 65 - 157 FEAIT—TH| 3 |19
/NEE | 65 - 158 FEANT—TH| 4 | 5
/NEE | 65 - 158 FEANT—TH| 4 | 5
/NEE | 65 - 160 FEAIT—TH| 4| 6
/NEE | 65 - 160 FEANT—TH| 4 | 7
/N 65 - 162 M =T H | 14 |20
/N | 65163 R =T H| 15 |18
/N | 65 - 164 T =T H| 15 |21
/N | 65 - 164 HgRT =T H| 15 |22
/N | 65 - 164 R =T H| 15 |22
/N | 65 - 164 T =T H| 15 |24
/N | 65 - 164 W =T H| 15 | 26
/N | 65 - 164 T =T H| 15 | 26
/N | 65 - 164 T =T H| 15 | 26
/N | 65 - 164 M =T H| 15 | 26
/N | 65 - 165 R =T H| 13 | 6
/N | 65 - 166 BT =T H| 13 | 5
/NEE | 65 - 167 FEARRT—TH| 1 |18
/N | 65168 T =T H| 13 | 11
/NEE | 65170 WA —TH| 4 | 3
/NEE | 65170 WA —TH| 4 | 3
/NEE | 65170 WA —TH| 4 | 3
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RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
JNER| 65 -170 FAR—TH| 4 |3
JNER | 65170 FEANT—TH| 4 | 3
JNER | 65170 FEANT—TH| 4 | 3
JNER | 65 -173 MREIT=TH| 13 |17
JNER | 65 -173 MRET=TH| 13 |17
JNER | 65 - 177 MRIT=TH| 14 |15
JNER | 65 -191 MRIT=TH]| 12 |19
JNER | 65 -193 MRIT=TH| 15 |26
JNER | 65 -198 FEANT—TH| 1 |14
/NEE | 65 -198 FEARNT—TH| 1 |46
/N 65 - 201 M =T H | 15 |29
/NEE | 65 -209 FEAIT—THl 1|3
/NEE | 65 -209 FEAIT—TH| 1|3
/NEE | 65 -209 FEAIT—TH| 1|3
JNEE | 65 -214 FEARIT—TH| 1 |14
/NHR |65 - PEANTZTH| 10| 6
ANER | 66 -1 FEARIT—TH| 1 |42
/AN |66 -3 PEARBT—TH| 8 |25
JANER ] 66 -3 PEARBT—TH| 8 |25
/N 66 -5 PEARNT—TH| 7 |31
/N | 66 -5 PEARNT—TH| 7 |31
/AN 66 -9 FEARIT—TH| 9 |19
JNE |66 - 14 PEART—TH| 11 |13
JNE |66 - 14 PEART—TH| 11 |13
/NER | 6615 PEARTZTHl 1| 8
/NEE | 6616 FEAITZTHl 1| 2
/NEE | 6616 FEAITZTHl 1| 2
/NEE | 6616 FEAITZTHl 1| 2
/NEE | 6616 PEAITZTHl 1| 3
/NEE | 6616 PEARTZTH| 1| 4
/NEE | 6616 PEART ZTH| 1 |27
/NEE | 6616 PEART ZTH| 1 |28
/NEE | 6616 PEART ZTH| 1 |28
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RN

m E & £ R ;oE OB O£ R
ARSI o4 ;% e .
JNERC| 66 -17 FAR—TH| 10| 5
NS 66 - 19 AN —TH| 5 | 3
NS 66 - 19 WA —TH| 5 | 4
JNER |66 - 19 FEANT—TH| 7 |31
JNER |66 -21 PART—TH| 11 |13
JNEB | 66 -22 PEARETZTH| 2 | 4
JNER |66 - 23 FEAIT—TH| 1 |30
JNER |66 - 25 FEANT—TH| 1 |27
JNER |66 - 27 FEANT—TH| 1 |23
JNEE |66 - 27 PEANT—TH| 1 |23
JNEE |66 - 27 PEANT—TH| 1 |37
iN:E! 66 — 29 PAANT—TH| 8 | 3
JNEE |66 - 29 FEAIT—TH| 8 |27
JNEE |66 - 29 FEAIT—TH| 8 |28
JNEE |66 - 29 FEAIT—TH| 8 |28
JNEE |66 - 31 FEARIT—TH| 5 |29
JNEE |66 - 32 FEARIT—TH| 1 |29
JNEE |66 - 32 PEARNT—TH| 1 |31
/NEE |66 - 32 PEARNT—TH| 1 |31
/NEE |66 - 32 PEARNT—TH| 1 |31
N:E! 66 — 34 PAAT—TH| 8 | 8
N:E! 66 — 34 PAAT—TH| 8 | 8
N:E! 66 — 34 PAAT—TH| 8 | 8
N:E! 66 — 34 AT —TH| 8 | 9
JNEE |66 -34 FEARIT—TH| 8 |20
/NEE |66 -34 AT —TH| 8 |21
/NEE |66 -34 WA —TH| 8 |21
/NEE |66 -34 WA —TH| 8 |22
/NEE |66 -34 FEARRT—TH| 8 |22
/NEE |66 -34 WA —TH| 8 |22
/NEE |66 -34 FEARRT—TH| 8 |22
/NEE |66 - 36 WA —TH| 5 |21
/NEE |66 - 36 FEARRT—TH| 5 |22
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RN

m E & £ R o B X R
ARSI o4 ;% e .
JNER| 66 - 36 FAIT—TH| 5 |24
JNER |66 - 36 FEARNT—TH| 5 |24
JNER |66 - 36 FEARIT—TH| 5 |24
/NER |66 - 36 FEARNT—TH| 5 |24
JNER |66 - 36 FEARNT—TH| 5 |24
JNER |66 - 36 FEARIT—TH| 5 |24
/NER |66 - 36 FEARNT—TH| 5 |24
JNER |66 - 37 PART ZTH| 2 |28
JNER |66 - 38 PRI —TH| 7 |24
/NEE |66 - 38 PEANT—TH| 7 |25
/NEE |66 - 40 FEAIT—TH| 6 |19
/NEE |66 40 FEAIT—TH| 6 |19
JNEE |66 40 FEAIT—TH| 6 |19
/NEE |66 40 FEAIT—TH| 6 |19
/NEE |66 40 FEAIT—TH| 6 |19
JNEE |66 40 FEAIT—TH| 6 |19
/NEE |66 40 FEAIT—TH| 6 |19
JNEE |66 40 FEARIT—TH| 6 |19
/NEE |66 40 FEARIT—TH| 6 |19
/NEE |66 40 FEARIT—TH| 6 |19
/NEE |66 40 FEARIT—TH| 6 |19
/NEE |66 40 FEARIT—TH| 6 |19
/NEE |66 40 FEARIT—TH| 6 |19
/NEE |66 40 FEARIT—TH| 6 |19
/NEE |66 40 FEARIT—TH| 6 |19
/NEE |66 40 FEAIT—TH| 6 |19
/NEE |66 40 FEAIT—TH| 6 |19
/NEE |66 40 FEAIT—TH| 6 |19
JNEE |66 42 PEART—T H| 10 | 26
JNEE |66 42 PEART—T H| 10 | 26
JNEE | 66 - 42 PEART ZTH| 2 |28
/NEE |66 43 WA —TH| 8 |24
NS 66 — 44 AT —TH| 5 | 9
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RN

m E & £ R ;oE OB O£ R
ARSI o4 ;% e .
JNER | 66 - 44 PEARET—TH| 5 | 9
JNER |66 - 44 FEAIT—TH| 5 |29
JNER |66 - 46 FEAIT—TH| 8 |29
/NEB | 66 -49 PERETZTH| 2| 6
/NEB | 66 -49 PERETZTH| 2 | 6
JNER |66 - 49 FEAITZTH| 2 |11
/NEB | 66 -49 PEARETZTH| 3 | 2
JNER |66 - 49 FEANTZTH| 3 |15
JNER |66 - 49 FEANTZTH| 3 |18
JNER |66 -49 PEANTZTH| 3 |18
JNER |66 -49 PEANTZTH| 3 |18
JNER |66 -49 PEANTZTH| 3 |18
JNER |66 -49 PEANTZTH| 3 |18
JNER |66 -49 FEARITZTH| 3 |19
/NEE |66 - 53 PEARIT—TH| 11| 6
/NEE |66 - 53 PEAIT—TH| 11| 7
/NEE |66 - 53 PEAIT—TH| 11| 7
/NEE |66 - 54 FEARNT—TH| 1 |34
/NEE |66 - 54 FEARNT—TH| 1 |34
/NE |66 - 54 PEARBT—TH| 1 |35
N:E! 66 — 60 AT —TH| 7 | 9
/NEE |66 - 60 PEARIT—TH| 7 |10
N:E! 66 — 66 PAAT—TH| 6 | 2
N:E! 66 — 66 AT —TH| 6 | 2
N:E! 66 — 66 AT —TH| 6 | 2
NS 66 — 66 AT —TH| 6 | 2
/NE | 66 - 68 WA —TH| 7 |31
NS 66 — 69 AT —TH| 7 | 9
NS 66 — 69 AT —TH| 7 | 9
NS 66 — 69 AT —TH| 7 | 9
NS 66 — 69 AT —TH| 7 | 9
NS 66 — 69 AT —TH| 7 | 9
NS 66 — 69 AT —TH| 7 | 9
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RN

m E & £ R ;oE OB O£ R
ARSI %ﬁméé;%%g .
JNER | 66 - 69 PEARET—TH| 7| 9
NS 66 - 69 PAIM—TH| 7 | 9
NS 66 - 69 PAIM—TH| 7 | 9
JNER |66 - 69 FEANT—TH| 7 |31
JNER |66 - 69 FEANT—TH| 7 |31
/NER |66 - 69 FEANT—TH| 7 |31
JNER |66 - 69 PEANT—TH| 7 |33
JNER |66 - 69 PEANT—TH| 7 |33
/NER |66 - 69 PEANT—TH| 7 |33
/NEE |66 - 69 FEARIT—TH| 7 |34
/NEE |66 - 69 FEARIT—TH| 7 |34
iN:E! 66 - 71 PAANT—TH| 6 | 5
iN:E! 66 - 71 PAAT—TH| 6 | 6
iN:E! 66 - 71 PAAT—TH| 6 | 6
iN:E! 66 - 71 PAAT—TH| 6 | 6
iN:E! 66 - 71 PAAT—TH| 6 | 6
JNEE |66 - 71 FEAIT—TH| 6 |28
JNEE |66 - 71 FEARIT—TH| 6 |30
JNEE |66 - 71 FEARIT—TH| 6 |30
JNEE |66 - 71 FEARIT—TH| 7 |14
JNEE |66 - 71 FEARIT—TH| 7 |14
JNEE |66 - 74 PEARIT—TH| 7 |11
JNEE |66 - 74 PEARIT—TH| 7 |12
JNE |66 - 74 PEARNT—TH| 7 |31
JNEE |66 - 74 PEARNT—TH| 7 |31
JNE |66 - T4 WA —TH| 7 |31
JNE |66 - T4 FEARRT—TH| 7 |32
JNE |66 - T4 PEARRT—TH| 7 |32
JNE |66 - T4 FEARRT—TH| 7 |32
JNE |66 - T4 PEARRT—TH| 7 |32
NS 66 - 76 PHART—TH| 6 | 8
NS 66 - 76 PHART—TH| 6 | 8
NS 66 - 76 AT —TH| 6 | 9
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RN

m E & £ R ;oE OB O£ R
ARSI o4 ;% e .
/NER | 66 - 76 PEARET—TH| 6 | 9
/NER |66 - 76 FEAIT—TH| 6 |28
JNER |66 - 76 FEAIT—TH| 6 |28
JNER |66 - 82 FEAIT—TH| 7 |29
JNER |66 -84 FEARIT—TH| 6 |24
JNER |66 -84 FEARIT—TH| 6 |24
/NEE | 66 - 86 FEANT—TH| 5 |25
/NEE | 66 - 86 FEANT—TH| 5 |25
/NER | 66 - 86 FEANT—TH| 5 |25
/NEE | 66 - 86 FEARNT—TH| 5 |26
/NEE | 66 - 86 FEARNT—TH| 5 |26
/NEE | 66 - 86 FEANT—TH| 5 |27
/NEE | 66 - 86 FEAIT—TH| 5 |27
/NEE | 66 - 86 FEAIT—TH| 5 |28
JNEE |66 90 FEAIT—TH| 8 |23
JNEE |66 - 99 FEARIT—TH| 7 |14
JNEE |66 - 99 FEARIT—TH| 7 |14
/NEE |66 99 WA —TH| 7 |16
/NEE |66 -99 FEARIT—TH| 7 |16
/NEE |66 -99 FEARIT—TH| 7 |16
/NEE |66 -99 PEARNT—TH| 7 |27
/NEE |66 -99 PEARBT—TH| 7 |28
/NEE |66 - 101 FEARIT—TH| 6 |12
/NEE |66 - 101 FEAIT—TH| 6 |12
/NEE |66 - 101 FEAIT—TH| 6 |12
/NEE |66 - 101 AT —TH| 6 |12
/NEE |66 - 101 AT —TH| 6 |12
/NEE |66 - 101 FEART—TH| 6 |13
/NEE |66 - 101 WA —TH| 6 |22
/NEE |66 - 101 AT —TH| 6 |22
/NEE | 66 -103 FEAIT—TH| 9 |20
/NEE | 66 -103 FEAIT—TH| 9 |20
/NEE | 66 -106 PEART—TH| 10| 9
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RN

B & B £ = ok B £ R
ARSI w4 ;% EE !
/NER | 66 - 106 PEARET—TH| 10| 9
/ANEE |66 -107 PEARHT—TH| 7 |38
/NEE | 66 -136 PEARETZTH| 1| 5
/NEE | 66 - 137 PEARETZTH| 1| 6
/NEE | 66 - 137 PEARETZTH| 1| 6
/NEE | 66 - 137 PEARETZTH| 1| 6
ANEE |66 - 152 PEARET—TH| 1 |19
NS 66 - 153 WA —TH| 7 | 7
NS 66 — 154 AT —TH| 5 | 2
/ANEE | 66 - 154 PEARET—TH| 5 |31
/ANEE | 66 - 154 PEARET—TH| 5 |33
/ANEE | 66 - 154 PEARET—TH| 5 |33
/NEE | 66 - 156 PERET—TH| 1 |41
/ANEE | 66 - 156 PERET—TH| 1 |41
/ANEE | 66 - 158 PEARET—TH| 1 |18
/ANEE | 66 - 158 PEARET—TH| 1 |19
/ANEE | 66 - 158 PEARET—TH| 1 |19
/ANER | 66 -159 PEARET—TH| 1 |18
N:E! 66 — 160 AT —TH| 5 | 4
N:E! 66 — 160 PAT—TH| 5 | 5
N:E! 66 — 160 PAT—TH| 5 | 5
N:E! 66 — 160 PAT—TH| 5 | 5
N:E! 66 — 160 PAT—TH| 5 | 5
N:E! 66 — 160 PAT—TH| 5 | 5
N:E! 66 — 160 PAT—TH| 5 | 5
NS 66 — 160 PART—TH| 5 | 5
NS 66 — 160 PAMT—TH| 5 | 5
NS 66 - 161 AT —TH| 5 | 9
NS 66 - 161 AT —TH| 5 | 9
/ANER | 66 -163 PEARET—TH| 7 |36
/ANER | 66 - 164 PEARET—TH| 9 |18
/ANER | 66 - 164 PEARET—TH| 9 |18
/ANER | 66 - 164 PEARET—TH| 9 |18
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RN

m E & £ R o B X R
ARSI w4 ;% R .
/NER| 66 - 165 FAR—TH| 9 |15
JNER | 66 - 165 FEAIT—TH| 9 |15
/NER | 66 - 165 FEAIT—TH| 9 |15
JNER | 66 - 165 FEAIT—TH| 9 |15
/NER | 66 - 166 FEAIT—TH| 9 |12
JNER | 66 - 167 FEAIT—THl 9| 9
/NER | 66 - 168 PART—TH| 10 |23
JNER | 66 - 168 PART—TH| 10 |23
JNER | 66 - 168 PART—TH| 10 |23
/NEE | 66 - 168 PEART—TH| 10 |23
/NEE | 66 - 168 PEART—T H| 10 | 24
/NEE | 66 - 168 PEART—T H| 10 | 24
/NEE | 66 - 168 PEART—T H| 10 | 24
/NEE | 66 - 168 PEART—T H| 10 | 24
/NEE | 66 - 168 PEART—T H| 10 | 27
/NEE |66 - 169 PEART—TH| 10 |21
/NEE |66 - 169 PEART—TH| 10 |22
/NE |66 - 169 PEART—T H| 10 | 22
JNEE |66 - 171 PEAET—T H| 10 | 19
JNEE |66 - 171 PEART—TH| 10 |21
JNEE |66 - 172 PEAET—T H| 10 | 19
JNE |66 -173 PEABT—T H| 10 |13
JNE |66 -173 PEAET—T H| 10 |18
/NE |66 - 175 FEARIT—THl 9 | 3
/NE |66 - 175 FEARIT—TH| 9 | 4
/NEE | 66 -176 WA —THl 9 | 5
/NEE | 66 -176 WA —THl 9 | 5
/NEE | 66 -176 WA —THl 9 | 5
/NEE | 66 -176 AT —THl 9 | 6
/NEE | 66 -176 WA —THl 9 | 8
JNE | 66 - 177 AT —TH| 8 |18
/NEE | 66 -178 FEAIT—TH| 8 |19
JNE | 66 -179 FEAIT—TH| 8 |19
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RN

ok R & R | B O OB & R
K T f
TEUARE BooE A4 % E o
JNER| 66 - 182 FAI—TH| 8 |12
JNER | 66 -184 WA —TH| 10| 4
JNER | 66 -185 WA —TH| 10| 1
JNER | 66 - 186 FEANT—TH| 1 |43
JNER | 66 - 187 WA —TH| 11| 2
JNER | 66 -189 PEART—TH| 10 |12
JNER |66 - 191 FEAIT—TH| 5 |19
JNER |66 192 FEAIT—TH| 5 |19
JNER | 66 -195 FEAIT—TH| 8 |13
JNEE |66 -195 FEAIT—TH| 8 |13
/NEE |66 -195 FEAIT—TH| 8 |13
/NEE |66 -195 FEAIT—TH| 8 |14
JNEE |66 -195 FEARIT—TH| 8 |14
JNEE |66 -195 FEARIT—TH| 8 |14
/NEE | 66 -196 FEAIT—TH| 8 |13
/NEE |66 -197 FEAIT—TH| 8 |13
/NEE |66 -197 FEAIT—TH| 8 |13
/NE | 66 -198 PEARET—TH| 7 |22
/NE | 66 -198 PEARET—TH| 7 |23
/NE | 66 -198 PEARET—TH| 7 |23
/NE | 66 -198 PEARET—TH| 7 |23
JNE |66 -199 FEARIT—TH| 7 |21
JNE |66 -199 FEARIT—TH| 7 |21
/NE |66 -200 PEARIT—TH| 7 |20
/NE |66 -200 PEARIT—TH| 7 |20
/NEE |66 -200 FEARIT—TH| 7 |20
/NEE |66 -200 FEARIT—TH| 7 |20
/NEE |66 -200 FEARIT—TH| 7 |20
/NEE |66 -200 FEARIT—TH| 7 |20
/NEE |66 -200 FEARIT—TH| 7 |20
/NEE |66 -200 WA —TH| 7 |21
/NEE |66 -200 WA —TH| 7 |21
/NEE |66 -200 WA —TH| 7 |21
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RN

ok R & R | B O OB & R
K T f
TEUARE BooE A4 % E o
JNERC| 66 - 201 FAR—TH| 7 |17
JNER |66 - 201 FAIT—TH| 7 |19
JNER |66 - 202 WA —TH| 10| 2
JNER |66 - 202 AT —TH| 10| 3
JNER |66 -203 WA —TH| 10| 3
JNER |66 -204 FEAIT—TH| 6 |18
JNER |66 -204 FEAIT—TH| 6 |18
JNER |66 -204 FEAIT—TH| 6 |18
JNER |66 -204 FEAIT—TH| 6 |18
/NEE |66 -204 FEAIT—TH| 6 |18
/NEE |66 -204 FEAIT—TH| 6 |18
/NEE |66 -204 FEAIT—TH| 6 |18
/NEE |66 -204 FEAIT—TH| 6 |18
/NEE |66 -204 FEAIT—TH| 6 |18
/NEE |66 -205 FEAIT—TH| 6 |13
/NEE |66 -205 FEAIT—TH| 6 |17
/NEE |66 -206 PEANT—TH| 7 |31
/NEE |66 - 207 FEARIT—TH| 9 |10
/NEE |66 - 207 FEARIT—TH| 9 |11
N:E! 66 — 208 AT —TH| 6 | 4
JNER | 66 - 209 PEARET T H| 4 | 4
JNEE |66 - 211 PEARNT—TH| 1 |26
JNEE |66 - 212 PEARET—TH| 1 |25
JNE | 66 -213 PEARBT—TH| 1 |25
JNE |66 -213 FEARIT—TH| 1 |36
/NER | 66 -216 PEARET—TH| 8
/NE | 66 -217 WA —TH| 8 |24
/NEE | 66 -218 WA —TH| 8 |26
/NEE | 66 -218 WA —TH| 8 |26
/NEE | 66 -218 WA —TH| 8 |26
/NE | 66 -219 AT —TH| 8 |26
/NE | 66 -219 WA —TH| 8 |26
/NE | 66 -219 WA —TH| 8 |26
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RN

ok R & R | B O OB & R

K T f

TEUARE BooE A4 % E o
JNER| 66 -219 FARI—TH| 8 |27
VAR 66 -219 FEAIT—TH| 8 |27
NS 66 — 220 AN —TH| 8 | 7
NS 66 — 220 A —TH| 8 | 7
JNER |66 -220 FEANT—TH| 8 |25
JNER |66 - 221 FEAIT—TH| 7 |30
JNER |66 - 221 FEAIT—TH| 7 |30
NS 66 - 221 A —TH| 8 | 5
NS 66 - 221 A —TH| 8 | 5
iN:E! 66 - 221 PAAT—TH| 8 | 6
JNEE |66 -223 FEARIT—TH| 7 |30
JNEE |66 -223 FEARIT—TH| 7 |30
JNEE |66 - 225 PEANT—TH| 7 |31
JNEE |66 - 227 FEARIT—TH| 7 |14
JNEE |66 - 227 FEARIT—TH| 7 |14
JNEE |66 - 227 FEARIT—TH| 7 |14
JNEE |66 - 227 FEARIT—TH| 7 |14
JNEE |66 - 227 FEARIT—TH| 7 |14
JNE |66 - 227 FEARIT—TH| 7 |14
JNE |66 - 227 FEARIT—TH| 7 |14
JNE |66 - 227 FEARIT—TH| 7 |14
JNE |66 - 227 FEARIT—TH| 7 |14
/NE |66 - 228 FEARIT—TH| 5 |16
/NE | 66 - 228 PEARNT—TH| 7 |31
/NE | 66 - 228 PEARNT—TH| 7 |31
/NE | 66 - 228 WA —TH| 7 |31
JNEE |66 - 231 PEARRT—TH| 7 |13
JNEE |66 - 231 PEARRT—TH| 7 |13
JNEE |66 - 231 PEARRT—TH| 7 |13
JNEE |66 -232 PEART—TH| 6 |25
/NEE |66 -232 PEART—TH| 6 |25
/NE | 66 -233 WA —TH| 6 |26
NS 66 — 234 AT —TH| 6 | 9
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RN

m E & £ R ;oE OB O£ R
ARSI o4 ;% e .
JNER | 66 - 234 PEARET—TH| 6 | 9
NS 66 — 234 PAIT—TH| 6 | 9
NS 66 — 234 PAIM—TH| 6 | 9
NS 66 - 235 PAIM—TH| 6 | 9
NS 66 - 235 PAIT—TH| 6 | 9
JNER | 66 -235 FEAIT—TH| 6 |12
JNER | 66 -235 FEAIT—TH| 6 |12
JNER | 66 -235 FEAIT—TH| 6 |12
JNER | 66 -236 FAIT—TH| 6 |11
iN:E! 66 — 238 PAAIT—TH| 6 | 9
iN:E! 66 — 238 PAAIT—TH| 6 | 9
JNEE |66 -243 FEARIT—TH| 5 |24
JNEE |66 - 244 FEARIT—TH| 5 |24
JNER |66 - 244 FEARIT—TH| 5 |24
/NEE |66 - 245 FEARIT—TH| 5 |24
/NEE |66 - 245 FEARIT—TH| 5 |24
/NEE |66 - 246 FEARIT—TH| 5 |29
JNEE |66 - 246 PEARIT—TH| 5 |29
/NEE |66 - 246 PEARIT—TH| 5 |29
/NEE |66 - 246 PEARNT—TH| 5 |29
/NEE |66 - 246 PEARIT—TH| 5 |29
/NEE |66 - 246 PEARIT—TH| 5 |29
/NEE |66 - 246 PEARIT—TH| 5 |29
/NEE |66 - 251 PEARIT—TH| 1 |20
/NEE |66 - 251 PEARIT—TH| 1 |20
/NEE | 66 - 251 WA —TH| 5 |31
/NEE | 66 - 251 WA —TH| 5 |31
/NEE | 66 - 251 WA —TH| 5 |31
/NEE |66 - 254 AT —TH| 1 |21
/NEE |66 - 254 AT —TH| 1 |21
/NEE |66 - 254 AT —TH| 1 |21
/NEE |66 - 254 AT —TH| 1 |21
/NEE |66 - 254 AT —TH| 1 |21
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RN

B & B £ = o o/ £ R
ARSI w4 ;% EE !
JNER | 66 - 261 PEARHT—TH| 8 |28
ANEE |66 - 262 PEARET—TH| 8 |29
NS 66 — 263 AT —TH| 5 | 3
NS 66 — 263 WA —TH| 5 | 4
/NER |66 - 265 PERETZTH| 2 | 2
/NEE | 66 - 265 PERETZTH| 2 | 2
/NEE | 66 - 265 PEARET T H| 2 |26
/NEE | 66 - 266 PERETZTH| 2 | 3
/NER | 66 - 266 PERETZTH| 2 | 3
/ANEE |66 - 269 PEARET—TH| 1 |28
/ANEE |66 - 269 PEARET—TH| 1 |28
/ANEE |66 -270 PEARET—TH| 1 |33
ANEE |66 -270 PEARET—TH| 1 |33
ANEE |66 -271 PEARET—TH| 1 |28
ANEE |66 -274 PEARET—TH| 8 |20
ANEE |66 -274 PEARET—TH| 8 |20
/NEE |66 -275 PEARET—TH| 1 |20
/ANER | 66 -275 PEARET—TH| 1 |20
JNER |66 - 277 PEARETZTH| 4 | 3
ANER |66 -278 PEARET—TH| 7 |26
/ANER |66 -300 PEARET—TH| 7 |14
/ANEE |66 -301 PEARET—TH| 9 |12
ANEE | 66 -302 PEARET—TH| 5 |18
ANEE | 66 -302 PEARET—TH| 5 |18
/NER | 66 -303 PEARETZTH| 3 | 3
/NER | 66 -304 PEARETZTH| 3| 5
/NER | 66 -305 PEARET ZTH| 3 | 2
/ANER | 66 - 307 PEARET—TH| 7 |17
/NER | 66 -308 PRI ZTH| 2 | 2
N | 6T -4 AT ZTH| 9 |21
N | 6T -4 AT ZTH| 9 |21
N | 6T -4 AT ZTH| 9 |21
Nz 67 -8 AT ZTH| 8 | 2
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RN

m E & £ R o B X R
ARSI w4 ;% R .
| 6T -8 AR ZTH| 8 |13
| 678 PAKT ZTH| 8 |16
| 678 PART ZTH| 8 |17
| 6T -9 PEANT T H| 13 |23
| 6T - 14 FEAIT " TH| 12| 6
/NER | 6715 FEANT = TH| 12| 2
/e | 6715 PEANT T H| 12 |23
JNER | 6T - 16 PEART —TH| 9 | 5
JNER | 6T - 16 PEART —TH| 9 | 5
/N 6T - 16 PEAIT—TH| 9 | 5
/N 6T - 16 PEAIT-TH| 9 | 5
JNER | 67 - 18 PEART ZTH| 10| 1
JNER | 6T - 19 PEAITZTH| 11| 2
JNER | 6T - 19 FEARITZTH| 11| 4
JNER | 6T - 19 FEARITZTH| 11| 4
JNER | 6T - 19 FEARITZTH| 11| 4
JNER | 6T - 19 FEARITZTH| 11| 4
JNER | BT -20 FEARITZTH| 13| 6
JNER | BT -20 PEARITZTH| 13| 6
JNER | BT -20 FEARITZTH| 13| 6
JNER | BT -20 PEARITZTH| 13| 6
JNER | BT -20 PEARITZTH| 13| 6
JNER | BT -20 FEARITZTH| 13| 6
JNER | BT -20 PEARITZTH| 13| 6
JNER | BT -20 FEARNTZTH| 13| 6
/NEE | BT -20 PEART ZTH| 13| 6
/NEE | BT -20 PEART ZTH| 13| 6
/NEE | BT -20 PEART ZTH| 13| 6
/NEE | BT -20 PEART ZTH| 13| 6
/NEE | BT -25 PEAET T H| 13 |24
/NEE | BT -25 PEAHET Z T H| 13 |25
/NEE | BT - 26 PEART ZTH| 13| 4
/NEE | BT -29 PEARTZTH| 8| 9
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RN

m E & £ R o B X R
ARSI w4 ;% R .
AR | BT - 34 WA ZTH| 9 |16
JNER | 67 - 38 PART ZTH| 9 |15
JNER | 67 - 38 FEANT " TH| 12| 5
JNER |67 -39 PEART —TH| 9 | 7
JNER | BT -39 PEART —TH| 9 | 7
JNER | BT - 40 PEART—TH| 9 | 9
JNER | BT - 40 PEART ZTH| 9 |10
JNER | BT - 40 PEAKT ZTH| 9 |10
NER ] 6T -41 WA ZTHl 9 |11
ANER | BT - 41 WA ZTHl 9 |11
ANER | 6T - 42 PEART ZTH| 9 |12
AN | 6T - 44 FEARNT T H| 10 |14
/N | 67 - 45 PEANT =T H| 10 |13
JNER | 6T - 46 PEANTZTH| 10 | 3
JNER | 6T - 46 PEANTZTH| 10| 5
JNER | 67 - 48 PEANT T H| 10 |10
JNER | 6T - 49 PEANTZTH| 10| 6
JNER | BT - 49 PEARNTZTH| 10| 6
/NER | BT -50 PEARRT ZTH| 10 | 8
/NER | 67 - 54 PEAET ZTH| 9 |14
/NEE | BT -55 PEART ZTH| 10 |11
/NEE | BT - 56 PEAIT ZTHl 9 |11
MR ] 68 -1 PEARRTZTH| 13| 8
N ] 68 -2 FEARNTZTH| 12 |10
N ] 68 -2 PEARET ZTH| 12 13
N | 68-3 PEART ZTH| 13 |22
N | 68-3 PEART T H| 13 |22
| 68-6 PEARTZTH| 12| 9
AN 68 -7 PEART ZTH| 13| 8
AN 68 -7 PEART ZTH| 13| 8
AN 68 -7 PEART T H| 13| 8
/NEE | 68 - 11 PEAT ZTH| 12 |21
/NEE | 68 - 11 PEART =T H| 12 |22
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RN

m E & £ R o B X R
ARSI w4 ;% R .
/MR | 6816 FAITZTH| 11|16
/NER | 6816 FEANT T H| 11 |16
/ANERLT0 PE T 11 |16
/ANERLT0 PE T 11|17
JNER ] T0 -1 WA ZTH| 1 |22
JNER ] T0 -1 PEAKT ZTH| 1 |24
JNER ] T0 -1 PEAKT ZTH| 1 |24
JNER ] T0 -1 PEAKT ZTH| 6 |30
JNER ] T0 -1 PEAKT ZTH| 6 |30
JNER| 70 - 10 PEAIT —TH| 5 | 2
JNER| 70 - 10 PEAIT —TH| 5 | 2
JNER| 70 - 10 PEAIT —TH| 5 | 7
JNER| 70 - 10 PEART ZTH| 5 |20
JNER| 70 - 10 PEART ZTH| 5 |20
JNER| 70 - 10 WA ZTH| 5 |21
JNER| 70 - 10 PEART ZTH| 5 |21
JNER| 70 - 10 PEART ZTH| 5 |22
/NER |70 -16 VAR ZTH| 3 |16
/NER |70 -16 VAR ZTH| 3 |16
JNER |70 -19 PEART ZTH| 2 |22
/NER |70 -21 AT ZTHl 6 | 1
/NER | 70 -21 PEART ZTH| 6 | 2
/NER |70 -24 PEART ZTH| 4 |13
JNER |70 -27 AT ZTH| 7| 4
JNER| 70 -27 VAR ZTH| 7 |24
JNEE |70 -32 PEART ZTH| 1 |18
/NEE |70 -32 AT ZTHl 1 |21
JNEE |70 -32 PEARTZTH| 8| 3
/NEE |70 -33 FEART ZTH| 1|17
/NEE |70 -33 FEART ZTH| 1|17
/NER |70 -34 PEARTZTH| 1 |16
/NER |70 -34 PEARTZTH| 1 |16
/NEE | 70 -35 PEARTZTH| 1 |14
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RN

m E & £ R o B X R
ARSI o4 ;% e .
JNER |70 - 35 AT ZTH| 1 |14
JNER |70 -35 FEAITZTH| 1 |14
/NEB | T0-36 PERETZTH| 7| 5
/ANE ] T0 - 36 Bfy mT 2 |13
JNER | T0-37 PERETZTH| 7| 7
JNEB | 70 - 40 PEARETZTH| 6 | 5
JNER | 70 - 40 PEARETZTH| 6 | 5
JNER | 70 - 41 PEARETZTH| 6 | 5
JNER | 70 - 41 PEARETZTH| 6 | 5
JNER | 70 - 41 PEARETZTH| 6 | 6
AN 70 -41 FEAITZTH| 6 |29
JNER| 70 -41 FEAITZTH| 6 |29
JNER | TO-42 PERETZTH| 6 | 7
JNER | TO-42 PEARETZTH| 6 | 8
JNER | TO-42 PEARETZTH| 6 | 8
ANER |70 - 44 WA ZTH| 6 |11
ANER |70 - 44 FEAITZTH| 6 |12
JNER| 70 - 44 FEAITZTH| 6 |12
JNER| 70 - 44 FEAITZTH| 6 |12
/NER |70 -45 FEARITZTH| 2 |20
JNER |70 - 46 FEARTZTH| 2 |17
JNER |70 - 46 FEARRTZTH| 2 |18
JNER |70 - 46 AT ZTH| 2 |19
JNER |70 - 46 AT ZTH| 2 |19
JNER |70 - 46 AT ZTH| 2 |19
JNE |70 - 47 AT ZTH| 2 |14
JNE |70 - 47 AT ZTH| 2 |16
JNE |70 - 47 AT ZTH| 2 |16
JNE |70 - 47 WA ZTH| 2 |17
/NEE |70 -49 PEART ZTH| 3 |12
/NEE |70 -50 PEART ZTH| 3 |10
/NER | 70 -51 AT ZTH| 4 |14
/NEE |70 -52 WEATZTH| 4 |16
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RN

m E & £ R o B X R
ARSI o4 ;% e .
JNER |70 - 52 PR TH| 4 |17
/NEB | T0-54 PEARETZTH| 5 | 3
/NEB | 70 -54 PEARETZTH| 5 | 4
/NEB | T0-55 PEARETZTH| 5 | 6
/NEB | T0-55 PEARETZTH| 5 | 6
/NEB | T0-56 PEARETZTH| 6 | 9
JNER |70 - 57 FEANTZTH| 7 |25
JNER |70 - 57 FEARNT " TH| 7 |26
JNER |70 - 57 FEARNT " TH| 7 |26
JNER |70 - 59 FEARITZTH| 7 |24
JNER |70 - 60 PEANTZTH| 5 |23
/N 70 -61 AT ZTH| 4 |11
JNER |70 - 62 FEAITZTH| 2 |17
JNER |70 - 62 FEAITZTH| 2 |17
JNER | T0-63 PEARETZTH| 5 | 2
JNER | 70 - 65 WA ZTH| 6 |11
JNER | 70 - 65 WA ZTH| 6 |11
/NER |70 -66 FEARITZTH| 6 |29
/NER |70 -66 FEARITZTH| 6 |29
/NER |70 - 66 FEARITZTH| 6 |29
/NER |70 - 66 FEARITZTH| 6 |29
N 70 - 73 PAATZTH| 7 | 8
Nz 70 - 73 AT ZTH| 7 | 9
JNER |70 -921 WEART _TH| 6 |30
ANEL T PEANTZTH| 2 |14
e T PEARTZTH| 2 |14
AN T PEART ZTH| 1 |24
AN T PEART ZTH| 1 |24
AN T PEART ZTH| 1 |24
AN T PEART ZTH| 1 |26
Nz 71-1 AT ZTH| 4 | 9
AN T WA ZTH| 4 |17
AR T -1 FEARTZTH| 10| 6
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RN

m E & £ R o B X R
ARSI %ﬁméé;%%g b
AN T -2 PAAET ZTH| 1 |26
AN T -2 PEART ZTH| 1 |26
AN T3 AT ZTHl 1|11
AR T3 AT ZTHl 1|11
ANER] 713 AT ZTHl 1|11
AN T3 AT ZTHl 1|11
AR T3 AT ZTHl 1|11
ANE | 71-4 PART - TH| 3 | 8
ANE | 71-4 PART " TH| 3 | 9
ANE | 71-5 AT TH 2 | 9
| T1-5 PEART ZTH| 2 |10
| 715 PEART ZTH| 2 |10
| 715 PEART ZTH| 2 |10
| 715 PEART ZTH| 2 |10
| 715 WA ZTH| 2 |10
| T1-5 WA ZTH| 2 |10
| 715 PEART ZTH| 2 |10
Nl 715 PEAT ZTHl 2 |11
N 71-5 AT ZTH| 3 | 7
ANE | 71-6 PAET T TH| 4 | 8
Nz 71-6 PAATZTH| 4 | 8
R T1-6 PEAET ZTH| 4 |18
JNER| 7110 AT ZTHl 1|11
JNER| 7116 PEAET ZTH| 2 |10
JNER| 7116 PEAET ZTH| 2 |10
JNEE | T1-16 PEARTZTH| 2 |10
JNEE | T1-16 PEART ZTH| 2 |10
JNEE | T1-16 PEARTZTH| 2 |10
JNEE | T1-16 FEAIT ZTH| 2 |12
JNEE | T1-16 FEAIT ZTH| 2 |17
JNEE | T1-16 FEAIT ZTH| 2 |17
JNEE | T1-16 PEART ZTH| 2 |23
JNEE | T1-16 PEART ZTH| 2 |24
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RN

m E & £ R o B X R
ARSI o4 ;% e .
AN T1-16 FAITZTH| 2 |24
JNER | T1-16 PRI TH| 2 |24
JNER | T1-16 FEAIT " TH| 3 |14
JNER | 7116 FEANT " TH| 12| 8
JNER | T1-16 FEANT " TH| 12| 8
JNER | T1-16 FEANT " TH| 12| 8
AN | 71 -24 FEANTZTH| 1 |12
ANER| 71 -24 FEANTZTH| 1 |12
ANER | 71 -24 FEANTZTH| 1 |12
ANER | 71 -24 FEAITZTHl 1 |12
ANER | 71 -24 FEAITZTHl 1 |12
ANER | 71 -24 FEAITZTHl 1 |12
JNER |71 - 26 AT ZTHl 1|11
ANER |71 - 26 FEAITZTHl 1 |12
JNER | T1-27 PEARETZTH| 1| 9
ANER | T - 27 FEAITZTH| 1 |10
JNER | T1-28 PEARETZTH| 1| 9
N 71 -28 AT ZTH| 1 | 9
JNER | 7131 FEARITZTH| 2 |26
JNER | T1-32 PEARRTZTH| 3 |17
JNER | 7133 FEARRTZTH| 3 |17
JNER | 7133 P T 3 12
/NER | T1-33 P T 3 |12
Nz 71 - 34 PAATZTH| 3 | 5
Nz 71 - 34 PAATZTH| 3 | 5
JNE| 71 -34 PEARTZTH| 3| 6
JNE | 7137 PEART ZTH| 1 |27
JNE | 7137 PEART ZTH| 1 |27
JNE | 7137 PEART ZTH| 1 |27
JNEE | 7138 PEAET ZTH| 4 |19
JNEE | T1-39 PEART ZTH| 4 |20
JNEE | T1-39 PEAIT ZTH|l 4 |21
JNEE | T1-39 PEAIT ZTH|l 4 |21
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RN

m E & £ R o B X R

K T f
TEUARE BooE A4 % ® B
JNER |71 -39 WA ZTH| 4 |21
JNER |71 -39 WA ZTH| 4 |21
JNER |71 -39 FEARNT T H| 4 |22
JNER |71 -40 PEART—TH| 4 | 6
AR T -4 PEART —TH| 4 | 3
AR T -4 PEART —TH| 4 | 7
ANER |71 - 42 FEANTZTH| 1 |25
AR T1-T1 FEANTZTH| 2 |13
ANER T2 FEANT T H| 12 |12
ANER| T2 FEARITZTH| 12 |19
ANER| T2 PEANT T H| 13 |18
ANER| T2 PEANT T H| 13 |18
ANER| T2 PE T 5 |40
ANERL T2 -1 FEARNTZTH| 13 |16
AN T2 -1 PEARNT T H| 13 |20
ANER L T2 -1 PEARNT T H| 13 |20
ANERL T2 -1 PEARNT T H| 13 |20
AN T2 -1 PEARNTZTH| 13 |20
N 722 PEARITZTH| 12 |20
AN 723 P T 319
JNEE| 725 P T 5 |32
JNEE| 725 P T 5 143
JNEE | 725 P T 5 143
AINE] 725 By FH T 5 130
ANER| T2 -11 P T 5 135
MR 7211 P T 5 |35
MR 7211 P T 11 |21
INER | 7213 P T 11 |18
ANE| T2 - 14 PEARRT ZTH| 14 |22
MR 7214 P T 4|1
MR 7214 P T 4|1
MR 7214 P T 4|3
MR 7214 P T 4|3
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RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
ANl 72-14 (Rl 4| 3
Rl 72 -14 PE T 4| 3
/NEB | T2-14 PE T 413
Rl 72-14 PE T 4 |41
| 72 -14 PE T 4 |42
JNER| 7216 PE T 5 |10
ANER | 7216 PE T 11 )23
e 72 -18 PEART ZTH| 14 |21
e 72 -18 PEART ZTH| 14 |21
ANER | 7218 FEARNT T H| 14 |24
JNER | 7218 FEARNT T H| 14 |24
JNER | 7218 PEANT T H| 14 |25
ANER | 7218 PE T 2|1
ANER | 7218 PE T 2|1
AN 7219 FEANT " TH| 14| 3
ANER |72 -20 PEANT T H| 14 |17
ANER | 72 -22 PEANT T H| 12 |15
ANER| T2 -22 PEARET ZTH| 12 |15
ANER| T2 -22 FEARITZTH| 12 |16
ANER| T2 -22 PEARNT ZTH| 12 |17
ANER| T2 -22 PEARET ZTH| 12 |18
JNER| T2 -24 PEARRT ZTH| 15| 3
NER| T2 -24 PEARBT ZTH| 15| 3
NER| T2 -24 PEABT ZTH| 15| 5
ANER| T2 -24 PEARBT ZTH| 15| 5
NE| T2 -24 FEART ZTH| 15| 5
NE| T2 -24 PEART ZTH| 15| 5
NE| T2 -24 PEART ZTH| 15| 5
NE| T2 -24 FEARRT ZTH| 16| 7
NE| T2 -24 PEARRT ZTH| 15 |27
NE| T2 -24 PEARRT ZTH| 15 |27
NE| T2 -24 PEARRT ZTH| 15 |27
NE| T2 -24 PEARRT ZTH| 15 |28
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RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
JNER | 72 -25 FAET " TH| 15| 8
JNER | 72 -25 FEANT " TH| 15| 9
JNER | 72 -25 FEANT " TH| 15| 9
JNER | 72 -25 PEANT T H| 15 |10
JNER | 72 -25 PEANT T H| 15 |10
JNER | 72 -25 PFEANT T H| 15 |11
ANER | T2 -26 FEARNT T H| 15 |14
ANER | 72 -26 PE T 5 133
e 7231 PEANT T H| 11 |12
R 72 -31 PFEANT =T H| 11 13
R 72 -31 PFEANT =T H| 11 13
JNER | 72-33 PE T 319
JNER | 72 -33 PE T 3 |10
JNER | 72 -33 PE T 3 |12
AR | 72 -34 PEANT =T H| 16 |21
AR | 72 -34 PE T 3113
ARl 72 -34 PE T 3 |14
/NER | T2-34 P T 3 114
JNER| T2 -34 P T 3 |14
JNER | 7235 P T 2 |11
JNER | 72 -38 PEARRT ZTH| 15 |17
JNER | 7238 PEARRT ZTH| 15 |17
JNER | 7238 PEARET ZTH| 15 |17
JNER | 72 -38 PEARRT ZTH| 15 |17
JNER | 72 -38 PEARRT ZTH| 15 |17
/NEE | 7238 PEARRT ZTH| 15 |18
/NEE | 7238 PEARRT ZTH| 15 |22
/NEE | 7238 PEARRT ZTH| 15 |22
/NEE | 7238 PEARRT ZTH| 15 |22
JNER | 72 -39 P T 516
JNER | 72 -40 P T 517
JNER | 72 -40 P T 51| 8
INER | T2 -41 P T 2 |16
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RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
ANER | T2 -42 (Rl 5 | 4
JNER | 72 -43 PE T 515
ANER| T2 -47 PE T 2 |18
ANER | T2 -47 PE T 2 |19
ANER | T2 -47 PE T 2 |21
JNEB | T2-55 PE T 2|3
JNER | 72 -55 PE T 2| 3
JNER | 72 -55 PE T 2| 3
JNEB | T2-55 PE T 2|5
JNER | 72 -55 PE T 2|5
JNER | 72 -55 PE T 2|5
JNER | T2-55 PE T 2|5
JNER | 72 -55 PE T 313
JNER | 72 -55 PE T 313
JNER | T2-55 PE T 3] 3
JNER | 72 -55 PE T 313
JNER | 72 -55 PE T 3] 4
JNER | 7257 P T 3|1
/NER | 72 -57 P T 31
JNER | 72 -57 P T 3119
/NER | T2 -64 PEARRT ZTH| 14 | 3
JNER | T2 -67 PEARNT ZTH| 14 |20
JNER | T2 -67 PEARNT ZTH| 14 |21
JNER | 72 -68 FEARITZTH| 14| 9
JNER | 72 -68 FEARITZTH| 14| 9
/NEE | T2 -69 FEARRT ZTH| 14 |30
/NEE | T2 -69 PEART ZTH| 14 |31
JNEE| 72170 PEARRT ZTH| 14| 3
JNEE| 72170 FEART ZTH| 14 |30
NER| T2 -T1 FEARRT ZTH| 14| 2
NER| T2 -T1 PEARRT ZTH| 14| 3
NER| T2 -T1 FEAITZTH| 14| 4
NER| T2 -T1 PEARRT ZTH| 14| 5
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RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
N T2 -7 FAIT"TH| 14| 6
R T72-T1 PEANT T H| 14 |28
R T72-T1 PEANT T H| 14 |28
R 72-T1 PFEANT T H| 14 |28
ANER| T2 -72 FEARNT T H| 14 |26
ANER| T2 -72 FEARNT T H| 14 |26
ANER | 7273 PEANT T H| 14 |25
N T2 -T74 PE T 2 |24
ANER| T2 -74 PE T 2 |24
| T2 -T74 PE T 2 |25
| T2 -T74 PE T 2 |26
INER| T2 -74 PE T 2 |26
JNER | 7275 PE T 2 |22
N 7275 PE T 2 |22
JNER| 72175 PE T 2 |23
ANER| 72279 PE T 2 |27
JNER | 72 -85 FEARNT T H| 15 |24
/NER | 72-85 PEARNT ZTH| 15 |24
JNER | 72 -86 PEARET ZTH| 14 |12
JNER | 72 -86 PEARET ZTH| 14 |12
JNER | 72 -86 PEARNET ZTH| 15 |23
JNER | 72 -87 FEARNT ZTH| 15 |24
JNER | 72 -88 PEARNT T H| 15 |27
/NER | 72 -88 PEARRT ZTH| 15 |27
JNER| T2 -97 P T 2 |15
JNEE | 72 -98 PEAET ZTH| 11 |15
JNEE | 72 -98 PEART T H| 12 | 14
JNEE | 72-99 PEART ZTH| 13 |21
JNEE | T72-99 PEART ZTH| 13 |21
/NEE| 72 - 100 PEART ZTH| 13 |11
/NEE| 72 - 100 PEART ZTH| 13 |11
/NEE| 72 - 100 PEAET ZTH| 13 |15
/NEE| 72 - 100 PEAET ZTH| 13 |15
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RN

m E & £ R o B X R
ARSI w4 ;% R .
JNER |72 -100 FEAET T H| 13 |15
JNER |72 -100 PEANT T H| 13 |15
SR 72 -101 FEANT " TH| 16 | 6
ANER |72 -104 PEANT T H| 16 |18
ANER | 72 -104 FEANT T H| 16 |19
ANER | 72 -104 FEANT T H| 16 |19
JNER |72 -105 PEANT T H| 16 |10
ANER | 72 -107 FEANT T H| 16 |19
ANER |72 -109 PEANT T H| 16 |10
ANER| 72 -109 FEANTZTH| 16 |10
ANER |72 -109 FEARNTZTH| 16 |14
ANER | 72 -110 PFEANT T H| 16 |23
AN T2 - 111 FEAITZTH| 16 | 6
AN 72 - 111 FEARNT " TH| 16 |24
AN 72 - 111 FEARNT " TH| 16 |24
AN T2 - 111 FEARNT " TH| 16 |24
ANER] 72112 PEANT T H| 16 |17
ANER| T2 -114 P T 2 |14
ANER| T2 - 117 FEARITZTH| 16 | 6
ANER| T2 - 117 PEARNT ZTH| 16 |23
JNER| 72 -119 PEARRT ZTH| 16 |23
ANER| T2 - 122 FEARITZTH| 16 | 6
JNER| T2 -123 PEARNT ZTH| 16 |23
JNER| T2 -125 PEARRT ZTH| 16 |22
JNER | T2 -126 PEART ZTH| 16 |21
ANER| T2 - 127 PEART ZTH| 16 |21
/NEE | 72 - 130 PEART ZTH| 16 | 8
/NEE | 72 -131 PEART T H| 16 | 8
JNEE | 72 -132 PEART ZTH| 16 | 8
/NEE | 72 -135 PEART ZTH| 16 | 6
/NEE | 72 -135 PEART ZTH| 16 |21
JNEE | 72 - 136 PEART ZTH| 16 | 8
JNER | T2 -137 PEART ZTH| 16 | 8
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RN

m E & £ R ;oE OB O£ R
ARSI w4 ;% R .
JNER | 72-138 FEART " TH| 16 | 8
JNER | 72 -139 PEANT " TH| 16 | 8
ANER | 72 - 145 PE T 2 |12
JNER | 72 -150 PE T 4| 4
JNER ] 72 -152 FEANT T H| 14 |10
JNER ] 72 -152 FEANT T H| 14 |10
JNER ] 72 -152 FEANT T H| 14 |10
JNER | 72 - 154 FEAITZTH| 11| 9
JNER | 72 - 154 FEAITZTH| 11| 9
/NEE | 72 -157 PE T 4|3
/NEE | 72-158 PE T 4|5
/NEE | 72-158 PE T 4|7
/NEE | 72-158 PE T 4|7
/NER | 72 -159 PE T 4| 8
JNER |72 - 160 PEANT =T H| 15 |21
JNER | 72 - 160 PEANT =T H| 15 |21
JNER |72 - 160 PEANT =T H| 15 |21
JNER |72 - 160 PEART ZTH| 15 |21
JNER |72 - 160 PEANT ZTH| 15 |21
AL T3 -1 P T 5 |11
AL T3 -1 P T 5 |11
AL T3 -1 P T 5 |11
AL T3 -1 P T 5 13
AL T3 -1 P T 5 13
AR T3 -1 P T 5 |38
/NER | T30 P T 5 139
/NER L T3 P T 5 |40
/NER L T3-1 P T 5 |40
/NER L T3 P T 5 |40
/NER L T3-1 P T 5 |40
/NER L T3 P T 5 |40
/NER L T3 P T 5 |40
/NER L T3 P T 5 |40
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RN

B & B £ = o o/ £ R
ARSI w o4 ;% R .
AR T3 -1 [y 5 140
AR T3 -1 V4 T 5 140
ANER | T3 -1 V4 T 5 140
INER | T3 -1 V4 T 5 140
ANER | T3 -1 V4 T 5 140
ANER | 733 V4 T 5 130
ANER | 733 V4 T 5 130
ANER | T3-6 V4 T 5 |14
ANER | T3-6 V4 T 5 |16
AR | T3-6 P T 5 |16
INER | T3-6 P T 5 |16
AR | T3-6 P T 5 |16
IANER | T3-7 P T 4|3
IANER | T3-7 P T 4|3
IANER | T3-7 P T 4|3
IANER | T3-7 P T 4|3
IANER | T3-7 P T 4|3
INER | T3-T PG T 419
INER | T3-T PG T 419
I 73 -1 g Hr T 4 110
I 73 -1 g Hr T 4 110
I 73 -1 g Hr T 4 110
I 73 -1 g Hr T 4 |38
I 73 -1 g Hr T 4 140
I 73 -1 g Hr T 4 140
/NER | 73-8 P T 4 |11
/NER | 73-8 P T 5 |31
AR | T3-9 P iy 4|3
JNER | 7310 P T 4 |12
ANER | 7310 P T 4 |12
JNER | 7310 P T 4 |13
JNER | 7310 P T 4 |13
JNER | 7310 P T 4 |13

- 104 -




RN

B & B £ = woE B X R
K T f
nog| A M oo A& % ® B

JANER | 73-10 [y 4 |13
/NEB | 7310 g T 4 |13
/NEB | 7310 g T 4 |13
/NEB | 7310 g T 4 |13
/NEB | 7310 g T 4 |15
/NER L 7311 g T 5 |14
/NER L T3 -11 g T 5 |14
/NER L 7311 g T 5 |35
/NER L 7311 g T 5 |36
/NEB | 7313 g Hr T 5 |36
/NEB | 7319 g Hr T 4 |33
/NEB | 7319 g Hr 4 |33
/NEB | 73-20 g Hr T 4 |13
/NEB | 73-23 g Hr T 4 |35
/NEB | 73-23 g Hr 4 |35
/NEB | 73-23 g Hr T 4 |35
/NEB | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35

- 105 -




RN

B & B £ = woE B X R
K T f
nog| A M oo A& % ® B

JANER | 73-23 [y 4 135
/NER | 73-23 g T 4 |35
/NER | 73-23 g T 4 |35
/NER | 73-23 g T 4 |35
/NER | 73-23 g T 4 |35
/NER | 73-23 g T 4 |35
/NEB | 73-23 g T 4 |35
/NER | 73-23 g T 4 |35
/NER | 73-23 g T 4 |35
/NEB | 73-23 g Hr T 4 |35
/NEB | 73-23 g Hr T 4 |35
/NEB | 73-23 g Hr 4 |35
/NEB | 73-23 g Hr T 4 |35
/NEB | 73-23 g Hr T 4 |35
/NEB | 73-23 g Hr 4 |35
/NEB | 73-23 g Hr T 4 |35
/NEB | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
/NER | 73-23 g Hr T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35
JNER | 73 -23 P T 4 |35

- 106 -




RN

B & B £ = woE B X R
K T f
nog| A M oo A& % ® B

JANER | 73-23 [y 4 135
/NER | 73-23 g T 4 |37
JNER| O T73-25 [EReelil) 11 |12
/NEB | 7326 g T 5 |33
/NEB | 7326 g T 5 |33
/NEB | 73-26 g T 5 |33
/NEB | 73-26 g T 5 |33
/NER | 73-31 g T 5 |26
/NER | 73-32 g T 5 |24
/NEB | 73-32 g Hr T 5 |24
/NEB | 73-33 g Hr T 5 |22
/NEB | 73-34 g Hr 3|17
/NEB | 73-34 g Hr T 5 |19
/NEB | 73-34 g Hr T 5 |35
/NEB | 73-35 g Hr 5 |17
/NEB | 73-35 g Hr T 5 |17
/NEB | 73-35 g Hr T 5 |17
/NEB | 73-35 g Hr T 5 |18
/NEB | 73-38 g Hr T 4 126
/NEB | 73-38 g Hr T 4 |28
/NEB | 73-39 g Hr T 4 130
/NEB | 73 -40 g Hr T 4 132
/NER | T3 -41 g Hr T 4 120
/NER | 73 -42 g Hr T 4 |17
/NER | 73 -42 g Hr T 4 |17
ANER | 73 -42 P T 4 |17
ANER | 73 -42 P T 4 |17
ANER | 73 -42 P T 4 |17
ANER | 73 -42 P T 11| 6
ANER | 73 - 44 P T 4 |24
JNER | 73 -45 P T 4 |24
JNER | 73 - 46 P T 4 |22
JNER | 73 -49 P T 5 120

-107 -




RN

B & B £ = o o/ £ R
K T f
nog| A M oOEr A4 % ® B

INER | T3 -49 [y 5 120
/NEE | T3 -49 g T 5 120
/NEE | T3 -49 g T 5 120
/NEE | T3 -49 g T 5 120
/NEE | 73 -53 g T 4 |18
/e | 73 -53 PE T 1] 1
/e | 73 -53 PE T 1| 3
/NEE | T3 -67 g T 5 |35
NEE| T3 -T1 g T 5 |31
IR 73 -72 g Hr T 5 |33
IR 73 -72 g Hr T 5 |35
IR 73 - 75 g Hr 5 |21
IR 73 - 78 g Hr T 5 |35
IR 73 - 87 g Hr T 4 |18
IR 73 - 87 g Hr 4 |18
IR 73 -92 g Hr T 4 |34
IR 73 - 93 g Hr T 4 |13
I 73 -94 g Hr T 4 |16
I 73 - 95 g Hr T 4 |25
JNER | 73 - 109 P T 5 |37
JNER | 73 - 109 P T 5 |37
ANER| T3 - 117 P T 1] 3
ANER| T3 - 117 P T 1] 3
ANER| T3 - 117 P T 116
ANER| T3 - 117 P T 116
ANER | 73 -117 P T 11| 6
JNER | 73118 P T 4 119
JNER | 73118 P T 4 119
ANER ] 73 -122 P T 4 |18
AN 73122 P T 4 |18
ANER | 73 -123 P iy 11|10
ANER | 73 -123 P iy 11|11
ANER | 73 -123 P iy 11|13
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RN

ok R & R | B O OB & R
K T f
TEUARE BooE A4 % E o
JNER ] 73 -123 (Rl 11 )13
ANER ] 73123 Ve T 11 |14
JNER | 73125 PE T 11|12
JNER | 73125 PE T 11|12
N 73126 Ve T 11 |14
ANER | 73 -127 PE T 11|10
ANER |73 -127 PE T 11|12
ANER | T3 -127 Ve T 11 |12
JNER | 73 -129 PE T 5 |32
JNER | 73136 PE T 5 |42
JNER | 73136 PE T 5 |42
JNER | 73138 PE T 1|9
JNER | 73 -139 PE T 1|7
JNER | 73 -139 PE T 1] 8
JNER | 73 -143 PE T 11| 4
JNER | 73 -143 PE T 1|5
ANER | 73 - 144 PE T 1|7
JNER | 73 - 145 P T 5 |34
/NER| 73 -910 P T 4 |13
ANER| T4 VEARRT ZTH| 12 |11
ANER| T4 P AT 6 |21
N T4 [igeelii] 8 |36
INER | T4 -4 P T 9|5
INE | T4 -4 P T 9 | 6
INE | T4 -4 P T 9 | 7
ANE | 74-4 Pe T 9 | 8
ANE | 74-4 Pe T 9 19
ANE | 74-4 Pe T 9 19
/NER | T4 -4 P T 9 |10
/NER | T4 -4 P T 9 |10
/NER | T4 -4 P T 9 |11
/NER | T4 -4 P T 9 |11
/NER | T4 -4 P T 9 |11

-109 -




RN

B & B £ = o o/ £ R
K T f
TEUARE oOEr A4 % ® B
INER | TA-4 [y 9 |11
INER | TA-4 V4 T 9 |11
INER | T4 -4 V4 T 9 |12
INER | TA-4 V4 T 9 |12
INER | T4 -4 V4 T 9 |12
INER | T4 -4 V4 T 9 |13
INER | TA-4 V4 T 9 |13
INER | T4 -4 V4 T 9 |13
INER | TA-4 V4 T 9 |13
INER | TA-4 P T 9 |13
INER | TA-4 P T 9 |17
INER | TA-4 P T 9 |24
INER | TA-4 P T 9 |24
INER | TA-4 P T 9 |25
INER | TA-4 P T 9 |25
INER | TA-4 P T 9 |25
INER | TA-4 P T 9 |25
INER | T4 -4 PG T 9 |25
INER | T4 -4 PG T 9 |25
INER | T4 -4 PG T 9 |25
INER | T4 -4 PG T 9 |25
INER | T4 -4 PG T 9 |25
INER | T4 -4 PG T 9 |25
INER | T4 -4 PG T 9 |25
INER | T4 -4 PG T 9 |26
/NER | T4 -4 P T 9 |26
/NER | T4 -4 P T 9 |27
/NER | T4 -4 P T 9 |29
/NER | T4 -4 P T 9 |29
/NER | T4 -4 P T 9 |29
/NER | T4 -4 P T 9 |29
/NER | T4 -4 P T 9 |29
/NER | T4 -4 P T 9 |29
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RN

m A B &£ & woE B X R
K T f
nog| A M oo A& % ® B
INER | T4 -4 [y 9 |29
INER | T4 -4 g T 9 |31
INER | T4 -4 g T 0] 2
INER | T4 -4 g T 0] 2
INER | T4 -4 g T 0] 5
INER | T4 -4 g T 10 |13
INER T4 -4 Bfy mT 9 |34
INER T4 -4 Bl Iy 9 |36
INER T4 -4 Bfy HmT 9 |36
/NEB | T4-5 g Hr T 8 |34
N 74 -5 By iy 3|7
N 74 -5 By iy 3|7
N 74 -5 By iy 3|7
/NEB | T4-6 g Hr T 8 130
/NEB | T4-6 g Hr 8 130
/NEB | T4-6 g Hr T 8 |31
/NEB | T4-6 g Hr T 8 |32
/NER | T4-6 g Hr T 8 |32
/NER | T4-6 g Hr T 8 |32
/NER | T4-6 g Hr T 8 |32
INER | T4 -7 g Hr T 8 |28
INER | T4 -7 g Hr T 8 |28
INER | T4 -7 g Hr T 8 |29
INER | T4 -7 g Hr T 8 |29
/NER | T4-8 g Hr T 7|17
/NER | T4-8 P T 717
NER | T4-8 P T 717
/NER | T4-8 P T 717
/NER | T4-14 g Hr T 8 | 4
/NER | T4-14 g Hr T 8 | 4
/NER | T4-14 g Hr T 8 |9
/NER | T4-14 g Hr T 8 |9
JNER | 7415 P T 8 |16

- 111 -




RN

B & B £ = woE B X R
K T f
nog| A M oo A& % ® B
ANER | T4-15 [y 8 |16
INEB | T4-26 g T 8 |26
INER | T4 -29 g T 8 |25
/NEB | T4 -30 g T 8 |16
/NER | T4 -31 g T 8 |16
/NER | T4 -31 g T 8 |17
/NER | T4 -31 g T 8 |17
/NER | T4 -31 g T 8 |17
/NER | T4 -31 g T 8 |17
/NER | T4 -31 g Hr T 8 |17
/NER | T4 -31 g Hr T 8 |17
/NER | T4 -31 g Hr 8 |17
INEB | T4-32 g Hr T 7119
/NEB | T4-37 g Hr T 8 |19
/NEB | T4-37 g Hr 8 |19
/NEB | T4-37 g Hr T 8 |20
/NEB | T4 -38 g Hr T 7 |15
/NER | 74 -39 g Hr T 7 |14
/NER | T4 -41 g Hr T 7 |15
ANER | T4 -43 FEAITZTH| 6 |10
/NEB | T4-45 g Hr T 4 |24
/NEB | T4-45 g Hr T 7 |18
/NEB | T4-45 g Hr T 7 |18
/NEB | T4-45 g Hr T 7 |18
/NEB | T4 -50 g Hr T 8 |32
ANEE | 7451 Bl ET 316
ANER | 74 -52 P T 7 |15
/NER | T4 -53 g Hr T 9 |1
JNER | 74 -53 P T 9 |32
JNER | 74 -53 P T 9 |32
JNER | 74 -55 P T 9 |22
JNER | 74 -55 P T 9 |22
JNER | 74 -55 P T 9 |23

- 112 -




RN

B & B £ = o o/ £ R
K T f
nog| A M oOEr A4 % ® B
JNER | T4-55 [y 9 |23
JNER | T4 -55 Bl m#T 316
/INER | T4-B5 Bfy HmT 9 |33
/NEE | T4 -56 g T 9 | 2
/NEE | T4 -59 g T 7 |15
/NEE | T4 -69 g T 8 | 2
/NEE | T4-170 g T 8 | 3
NEE | T4-T1 g T 8 | 3
NEE | T4 -T2 g T 8 | 4
/NEE | T4-T6 g Hr T 8 |35
INE | T4 =TT g Hr T 8 |29
JNER| O T4-8T7 PE T 10 |12
JNER| O T4-8T7 PE T 10 |12
/NEE | T4-93 g Hr T 8 |13
/NEE | T4-93 g Hr 8 |13
/NEE | T4-93 g Hr T 8 |13
/NEE | T4-93 g Hr T 8 |13
/NEE | T4-93 g Hr T 8 |13
/NEE | T4-93 g Hr T 8 |14
/NEE | T4-93 g Hr T 8 |14
/NEE | T4-93 g Hr T 8 |15
/NEE | T4-93 g Hr T 8 |15
/NEE | T4-93 g Hr T 8 |15
/NEE | T4-93 g Hr T 8 |15
/NEE | T4-93 g Hr T 8 |15
ANER | 74 -93 P T 8 |15
INEE | T4-99 g Hr T 8 | 7
JNER | 74 -100 P T 8 |27
JNER | 74 -100 P T 8 |28
JNER | 74 -100 P T 8 |28
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Edh | 1691 -4 JEHERT T H| 11 |34
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1692 JEHERT=TH| 11| 3
kil | 1692 JEREAT T H| 11 | 3
1692 JEHERT=TH| 11| 3
kil | 1692 JERERT T H| 11 |26
Rl | 1692 JEHERT—TH| 11 |26
kil | 1692 JERERT T H| 11 |26
1692 JEHERT—TH| 11 |28
kil | 1692 JEREAT T H| 11 |29
el | 1692 SCRCHT 1|67
kil | 1693 JERERT T H| 7 | 9
Rk | 1695 JERERT=TH| 11| 5
il | 1695 JERERT T H| 11 | 6
e 11697 - 1 JEHERT—TH| 11 |38
R | 1697 -2 JERERT T H| 11 | 3
el 11697 -2 JERERT =T H | 11 |37
R | 1697 -2 JERERT Z T H| 11 |37
k| 1697 -2 JERERT T H| 11 |37
| 1698 - 1 JERERT Z T H| 10 | 27
| 1698 -2 JERERT T H| 10 |31
T | 1698 -3 JEHRERT Z T H| 10 | 29
| 1699 JERERT T H| 10 | 26
ikl | 1700 JERERT Z T H| 10 | 24
JErh 1703 -6 JERERT T H| 10 | 27
Eih | 1703 -8 JERERT T H| 10 | 32
ik 1703 -8 JERERT T H| 10 | 32
R 1705 JERERT — T H| 10 |33
| 1705 JERERT T H| 10 |33
i 1707 JERERT — T H| 10 |33
| 1707 JERERT T H| 10 |33
il | 1709 JERERT — T H| 10 | 6
11710 JERERT =T H| 9 |24
AEdh 1711 -1 JEHERT—TH| 9 |25
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ERh 1712 JERERT T H| 9 |26
(1712 JEHERT—TH| 10 | 4
e | 1712 -1 JERERT T H| 9 |26
MEdh 1713 -1 JEHERT=TH| 9 |29
R | 1713 -1 JERERT T H| 9 |31
MEdh 1713 -1 JEHERT=TH| 9 |32
e | 1713 -1 JERERT T H| 9 |32
MEdh 1713 -1 JEHERT=TH| 9 |32
R | 1715 JEREET T H| 9 |25
Rk | 1716 JEHERT=TH| 9 |25
il 1717 JERERT =T H| 9 |25
ek | 1717 JEHERT=TH| 9 |25
Al 1717 JERERT =T H| 9 |25
ek | 1717 JEHERT=TH| 9 |29
Al 1717 JERERT =T H| 9 |29
Rk | 1717 JEHERT=TH| 9 |29
Al 1717 JERENT =T H| 9 |29
1717 JERERT T H| 9 |33
Al 1717 JERENT T H| 9 |33
1717 JERERT T H| 9 |33
Al 1717 JERENT T H| 9 |33
1717 JERERT T H| 9 |34
Al 1717 JERENT =T H| 9 |34
| 1721 JERERT T H| 9 |35
Edh 1721 -2 JEHERTZ=TH| 9 |19
Rk | 1721 -2 JERERT =T H| 9 |21
Edh 1721 -2 JEHERTZ=TH| 9 |34
Rk | 1721 -2 JERERT T H| 9 |34
Edh 1721 -2 JEHERTZ=TH| 9 |35
| 1725 JERERT T H| 9 |36
i | 1726 JEHERTZ=TH| 9 |37
| 1727 JERERT T H| 9 |38
i | 1728 JEHERT=TH| 9 |40
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1729 JERERT T H| 9 | 9
1730 JEHERTZTH| 9 |41
R | 1731 -1 JERERT T H| 9 |42
e 1731 -2 JEHERT=TH| 9 |43
| 1732 JERERT T H| 9 | 2
R 1732 JEHERT=TH,| 9 | 2
| 1732 JERERT T H| 9 | 2
Edh 1732 -3 JEHERT=TH| 9 | 2
R | 1733 -3 JERERT T H| 9 | 3
el 11733 -5 JERERT T H| 9 | 5
il | 1734 JERERT—T H| 9 |12
JERh | 1735 JEHERT=TH| 9 | 9
il | 1737 JERERT T H| 9 | 9
Rk | 1738 JEHERT=TH| 9 |12
ikl | 1738 JERERT T H| 9 |14
el 11738 ~ 1 JERERT T H| 9 | 9
R | 1738 -1 JERERT T H| 9 | 9
JERh 1738 - 1 JERERT T H| 9 |10
R | 1738 -2 JERENT T H| 12 | 22
Efh | 1738 -2 JERERT T H| 12 | 22
R | 1738 -2 JERENT T H| 12 | 22
Rk | 1738 -2 JERERT T H| 12 | 22
R | 1738 -5 JERERT T H| 9 | 6
k| 1738 -5 JEREAT T H| 9 | 8
fEdh | 1738 - 16 JEHERT = TH| 12 |13
k| 1738 - 19 JERERT T H| 12 |18
Edh | 1738 - 21 JEHERT T H| 12 |20
Rk 1738 - 21 JERERT T H| 12 | 20
gl | 1738 - 30 JEHERT T H| 12 |20
1739 JERERT T H| 9 |12
g 1743 -1 JEHERTZ=TH| 9 |15
JERh | 1743 -2 JERERT T H| 9 |14
e | 1746 -7 JEHERTZTH| 9 |16
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R | 1746 -7 JERERT T H| 9 |16
e | 1747 -1 JEHERTZTH| 9 |21
R | 1747 -1 JEREET T H| 9 |21
e | 1747 -3 JEHERT=TH| 9 |17
e | 1748 -1 JERERT T H| 9 |23
iEdh | 1748 -1 JEHERT=TH| 9 |23
R | 1748 -1 JERERT T H| 9 |23
il | 1749 JEHENT=TH| 9 |24
| 1750 JERERT T H| 10 | 7
R | 1750 JEHERT=TH| 10 | 8
e | 1751 -1 JERERT =T H| 10 | 8
el 1751 -3 JEHERT=TH| 10| 9
R | 1751 -3 JERERT T H| 10 | 10
el 1751 -4 JEHERT T H| 10 |10
| 1751 -4 JERERT T H| 10 | 11
Rk | 1752 JEHERT =T H| 10 |12
R | 1752 -1 JERENT =T H| 12 | 7
Erh 1752 -6 JERERT T H| 12 | 8
il | 1753 JERENT=TH| 9 |10
Rk 1753 - 1 JERERT T H| 10 | 15
R | 1753 -2 JERENT T H| 10 | 20
Rk | 1753 -3 JERERT T H| 12 | 3
R | 1753 -3 JERENT T H| 12 | 3
k| 1753 -5 JERERT =T H| 11 |14
Eh | 1753 -6 JEHERT —TH| 10 |16
k1753 -6 JERERT T H| 10 | 16
g | 1753 - 20 JEHERT = TH| 12 | 2
k| 1753 - 20 JERERT T H| 12| 2
g | 1753 - 20 JEHERT = TH| 12 | 2
| 1754 JERERT T H| 10 |21
il | 1754 JEHERT T H | 10 |22
| 1754 JERERT T H| 10 | 22
R 1755 JEHERT T H | 10 |23

- 170 -




m = JBm £ R ;o o\ £ R
ARSI AN o4 :é L "
1756 JERERT T H| 11 | 6
il | 1758 JEHERT—TH| 11| 6
il | 1758 JEREAT T H| 11 | 6
R | 1759 JEHERT—TH| 11| 8
| 1760 -1 JERERT T H| 11 |11
MEdh | 1760 - 1 JEHERT T H| 11 |11
il | 1761 JEREAT T H| 11 | 11
MEdh | 1762 - 1 JEHERT=TH| 11| 9
e | 1762 -1 JEREET T H| 11| 9
el 1762 - 1 JERERT=TH| 11| 9
ikl | 1765 JERERT T H| 11 |18
JEEHh | 1766 JERERT=TH| 11 |19
il | 1767 JERERT=TH| 11 | 9
Rk | 1767 JERENT=TH | 11 |17
ikl | 1767 JERERT =T H| 11 |17
e | 1767 JERENT=TH | 11 |17
ikl | 1767 JERERT =T H| 11 |17
il | 1767 JERERT =T H| 11 | 17
il | 1770 JERERT Z T H| 11 |19
11770 JERERT=TH| 11 | 5
il 1772 JERENT T H| 11 | 11
1773 JERERT T H| 11 |26
il 1773 JERERT Z T H| 11 | 26
1773 JERERT T H| 11 |26
R 1774 JEHERT=TH| 11 | 1
1776 JERERT =T H| 11 |17
| 1777 JERERT =T H| 11 |17
Rl | 1779 JERERT =T H| 11 |17
Edh 1780 - 1 JERERT =T H| 11 |12
JERh 1780 - 1 JERERT =T H| 11 |15
R 1782 JERERT =T H| 12 | 29
ERh 1782 -1 JERERT=TH| 12 | 5
AEdh 1782 -1 JERERT=TH| 12 | 5
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ERh 1782 -1 JERERT =T H| 12 | 26
MEdh 1782 -1 JEHEIT=TH | 12 |29
i | 1784 JERERT =T H| 12 | 8
i | 1784 JEHENT=TH| 12 | 8
i | 1784 JERERT =T H| 12 | 8
i | 1784 JEHENT=TH| 12 |24
i | 1784 JERERT =T H| 12 | 25
| 1784 JEHENT=TH| 12 |25
i | 1784 JERERT =T H| 12 | 25
el 11786 - 1 JEHERT=TH| 10 | 11
R | 1786 - 1 JERERT =T H| 13 |37
el 1786 -2 JEHERT=TH| 13 |38
il | 1788 JERERT=TH| 12 | 9
Rk | 1788 JEHEIT=TH| 12 |22
kil | 1788 JERERT=T H| 12 | 22
ik | 1788 JEHENT=TH| 12 |23
ikl | 1788 JERERT =T H| 12 | 23
1789 JERERT =T H| 12 | 18
R | 1790 -1 JERERT =T H| 12 | 12
ERh 1792 -8 JERERT =T H| 13 |29
R | 1792 -8 JERERT =T H| 13 | 30
ERh 1792 -9 JERERT =T H| 13 |29
| 1792 - 10 JERERT =T H| 13 | 27
JERh 1792 - 11 JERERT =T H| 13 |27
A 1792 - 12 JERERT =T H| 13 | 26
ERh 1793 - 1 JERERT=TH| 9 |11
jEih 1793 -2 JEHERT=TH| 9 | 9
1795 JERERT =T H| 9 |41
i | 1796 JEHERT=TH| 9 | 3
1796 JERERT=TH| 9 | 3
il | 1796 JEHERT=TH| 9 |37
1796 JERERT =T H| 9 |37
i | 1796 JEHERT=TH| 9 |38
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il 1796 JERERT =T H| 9 |39
i | 1796 JEHEIT=TH| 9 |39
| 1798 JERERT =T H| 9 |31
| 1798 JEHERT=TH| 9 |31
| 1798 JERERT =T H| 9 |31
| 1799 JEHEIT=TH| 9 |14
e | 1799 -1 JERERT =T H| 9 |31
e 1799 -1 JEHERT=TH| 9 |31
| 1800 JEREET =T H| 9 |27
Rk | 1800 JEHERT=TH| 9 |28
e | 1801 -1 JERERT=TH| 9 |15
el | 1801 -4 JEHERT=TH| 9 |18
e | 1802 -1 JERERT =T H| 13 | 22
el 11803 ~ 1 JEHERT=TH| 13 |20
| 1803 -2 JERERT =T H| 13 | 18
el 1805 -1 JEHENT=TH | 13 |17
e | 1807 -1 JERERT =T H| 10 | 24
R | 1809 - 1 JERERT =T H| 10 | 26
ikl | 1810 JERERT =T H| 10 | 14
k| 1810 - 1 JERERT =T H| 10 | 16
e | 1810 -1 JERERT =T H| 10 | 16
JEh | 1811 JERERT =T H| 10 | 28
R | 1812 -4 JERERT =T H| 10 |31
ERh | 1813 -1 JERERT =T H| 10 | 11
| 1814 JERERT =T H| 10 | 13
| 1815 JERERT =T H| 10 | 6
il | 1815 JERERT=TH| 10 | 9
| 1815 JERERT =T H| 10 | 9
il | 1815 JERERT =T H| 10 | 9
| 1815 JERERT =T H| 10 | 9
il | 1815 JERERT =T H| 13 |37
k| 1816 - 1 ERERT=TH| 3 |11
Edh | 1816 -1 JERERT =T H| 10 | 6

- 173 -




m = JBm £ R ;o o\ £ R
ARSI AN o4 :é L "
Rk | 1816 - 1 JERERT =T H| 10 | 6
iEdh | 1816 -1 JEHERT =T H| 10 |31
| 1816 -1 JERERT =T H| 10 |31
iEdh | 1816 -1 JEHERT=TH| 10 |32
il | 1817 JERERT =T H| 10 | 5
| 1819 JEHENT=TH| 10 | 3
e | 1819 -1 JERERT =T H| 10 | 3
MEdh | 1819 -1 JEHENT=TH| 10 | 3
e | 1819 -1 JERERT =T H| 10 |35
Rk | 1823 JEHENT=TH| 3 | 4
ikl | 1823 JERERT=TH| 3 | 9
Rk | 1823 JEHERT=TH| 10 | 2
ikl | 1823 JERERT =T H| 10 | 36
ek | 1824 JERHEMT=TH| 3 | 1
il | 1824 JERERT=TH| 3 | 2
ek | 1824 JEHENT=TH| 3 | 2
il | 1824 JERENT=TH| 3 | 2
| 1824 JERERT=TH| 3 | 2
il | 1824 JERENT=TH| 3 | 2
| 1824 JERERT=TH| 3 | 3
il | 1824 JERENT=TH| 3 | 3
| 1824 JERERT=TH| 3 | 3
il | 1824 JERENT=T H| 3 |43
| 1824 JERERT =T H| 3 |43
R | 1824 JEHERT=TH| 3 |43
| 1827 JERERT =T H| 2 |10
g | 1828 ~ 1 JEHERT=TH| 2 |11
1830 ERERT=TH| 2 | 3
R | 1832 JEHERT=TH| 3 | 7
| 1834 ERERT=TH| 2 | 3
R | 1835 JEHERT=TH| 2 |41
| 1835 ERERT =T H| 2 |41
il | 1835 JEHEIT=TH| 2 |41
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R 1835 - 1 JERERT=TH| 2 | 3
i | 1836 JEHEIT=TH| 2 | 2
i | 1836 JERERT=TH| 2 | 2
i | 1836 JEHEIT=TH| 2 | 2
il | 1836 JERERT=TH| 2 | 2
i | 1838 JEHENT=TH| 2 |47
e | 1840 - 1 JERERT =T H| 2 |41
Rl | 1841 JEHENT=TH| 2 |18
e | 1841 -4 JERERT =T H| 2 |40
R | 1842 JEHENT=TH| 2 |18
ikl | 1843 JERERT=TH| 2 |17
Rk | 1843 JEHEIT=TH| 2 |17
R | 1843 -1 JERERT=TH| 2 |18
ek | 1844 JEHENT=TH| 2 |16
R | 1844 -2 JERERT=TH| 2 |18
el 1845 -2 JEHENT=TH| 2 |14
R | 1848 - 1 JERENT=TH| 2 |13
R | 1849 - 1 JERERT=TH| 3 |24
R | 1849 - 1 JERENT =T H| 3 |40
R | 1849 - 1 JERERT =T H| 3 |40
R | 1849 - 1 JERENT=TH| 3 |40
R | 1849 - 1 JERERT =T H| 3 |40
R | 1849 - 1 JERENT =T H| 3 |40
R | 1849 - 1 JERERT =T H| 3 |40
g | 1849 -1 JEHERT=TH| 3 |41
R | 1849 -2 JERERT =T H| 3 |40
jEith | 1849 -2 JEHERT=TH| 3 |40
R | 1850 - 1 JERERT =T H| 3 |39
il | 1851 JEHERT=TH| 3 |38
| 1852 JERERT =T H| 13 |31
il | 1854 EHERT=TH| 2 |14
| 1854 JERERT =T H| 3 |35
fEih | 1855 -1 JEHERT=TH| 3 |36
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k| 1855 -3 JERERT =T H| 3 |32
Eih | 1860 - 1 SCIRHT 1] 1
| 1860 -2 JERERT =T H| 2 |37
fEih | 1860 -3 JEHENT=TH| 2 |18
| 1860 -4 JERERT =T H| 2 |39
fEih | 1860 -4 JEHENT=TH| 2 |39
e | 1861 -1 JEREET=TH| 4 | 1
jEih 1862 -5 JEHENT=TH| 4 |68
e | 1863 -1 JERERT =T H| 4 |63
el 1863 — 1 JEHENT=TH| 4 |63
| 1863 -1 JERERT=TH| 4 |66
el 1863 -2 JEHENT=TH| 4 |64
il | 1864 JERERT=TH| 2 |22
k| 1864 JEHENT=TH| 2 |22
kil | 1864 JERERT=TH| 2 |22
k| 1864 JEHENT=TH| 2 |22
e | 1865 - 1 JERENT=TH| 2 |24
R | 1865 - 1 JERERT=TH| 2 |26
e | 1865 - 1 JERENT=TH| 2 |26
Rk | 1866 - 1 JERERT=T H| 2 |27
T | 1869 -5 SCHCHT 1] 2
Eh | 1869 -6 STHCHT L1
| 1869 - 6 SCHCHT 1 |66
ERh | 1879 - 1 SCIRHT 2 |22
Edh | 1879 -1 SO T 2 |22
k| 1879 -5 SCIRHT 2 1
jEih | 1879 -5 SO T 2 11
R | 1880 - 1 SCIRHT 2|6
i | 1881 SO T 2 |16
Rk | 1881 - 1 SCIRHT 2 |18
Edh | 1881 -1 SO T 2 |18
Rk | 1881 - 1 SCIRHT 2 |18
jEih | 1881 -3 SCH T 4 |48
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jEh | 1882 -3 SCIRHT 4 |48
jEih | 1882 -3 SCIRHT 4 |49
i | 1882 -6 SCIEHT 219
Eih | 1882 -7 SCIRHT 2 10
i | 1882 -7 SCIEHT 2 |15
Eih | 1882 -7 SCIRHT 2 |15
R | 1882 -7 SCIEHT 2 |15
jEdh | 1882 -7 SCIRHT 2 |15
e | 1882 -7 SCIEHT 2 |15
el 1883 — 1 SCRCHT 4 |52
R | 1883 -3 SCHCHT 2 |12
el 1883 -7 SCRCHT 2 |14
| 1883 - 10 SCHCHT 4 |50
il 1883 - 10 SCRCHT 4 |50
| 1883 - 10 SCHCHT 4 |50
el 1888 1 JEHENT=TH, 4 | 3
R | 1891 -4 JERENT =T H| 4 |62
ERE | 1891 -4 JERERT=T H| 4 |62
R | 1893 -3 JERENT =T H| 4 |62
R | 1894 -4 SCIRHT 4 |15
| 1895 - 6 SCHCHT 4|2
| 1898 - 1 SCIRHT 4 |46
R | 1898 -5 SCHCHT 4 |46
| 1898 -5 SCIRHT 4 |46
jith | 1898 -5 SO T 4 |46
i | 1898 -5 SCIRHT 4 |46
jEih | 1898 -6 SO T 4 |46
k| 1898 -6 SCIRHT 4 |46
jEih | 1898 -7 SO T 4 |45
k| 1898 -7 SCIRHT 4 |45
jEih | 1898 -7 SO T 4 |45
k| 1898 -7 SCIRHT 4 |45
Eih | 1898 -7 SCH T 4 |45
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| 1898 -7 SCIRHT 4 |45
e | 1898 - 10 SCIRHT 4 |46
| 1898 - 11 SCIEHT 4 |46
e | 1899 -1 SCIRHT 4 |42
il | 1899 SCIEHT 4 |46
i | 1899 -3 SCIRHT 2 |23
R | 1899 -3 SCIEHT 2 |24
i | 1899 -3 SCIRHT 2 |24
R | 1899 -3 SCIEHT 2 |24
el 1899 -4 SCRCHT 4 |42
ikl | 1903 SCHCHT 1|25
Pl | 1903 SCRCHT 1|25
kil | 1903 SCHCHT 1|25
el | 1903 SCRCHT 1|25
ikl | 1903 SCHCHT 1|25
el | 1903 SCRCHT 1|25
il | 1903 SCHCHT 1|25
1903 SCIRHT 1|25
il | 1903 SCHCHT 1|25
1903 SCIRHT 1|25
il | 1903 SCHCHT 1|25
1903 SCIRHT 1|25
il | 1903 SCHCHT 1|25
1903 SCIRHT 1|25
fEih | 1903 SO T 1|25
1903 SCIRHT 1|25
fEih | 1903 SO T 1|25
| 1903 SCIRHT 1|25
Eih | 1903 SO T 1|25
| 1903 SCIRHT 1|25
Eih | 1903 SO T 1|25
| 1903 SCIRHT 1|25
e | 1903 SCH T 1|25
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1903 SCIRHT 1|25
k1903 SCIRHT 1|25
kil 1903 SCIEHT 1|25
1903 SCIRHT 1|25
kil 1903 SCIEHT 1|25
1903 SCIRHT 1|25
kil 1903 SCIEHT 1|25
k1903 SCIRHT 1|25
kil 1903 SCIEHT 1|25
el | 1903 SCRCHT 1|25
Al 1914 SCHCHT 5 |38
11914 SCRCHT 5 139
Al 1914 SCHCHT 5 |39
el 11914 SCRCHT 5 139
il 1915 SCHCHT 5 |40
el 11918 -3 SCRCHT 8 |45
R | 1920 -1 SCHCHT 8 |46
R 1920 - 1 SCIRHT 8 |47
R | 1920 -1 SCHCHT 8 |47
ERh 1920 - 1 SCIRHT 8 |47
R | 1926 - 1 JERERT =T H| 4 | 2
R 1926 - 1 JERERT=TH| 4 | 2
R | 1926 - 1 JERERT =T H| 4 | 6
| 1927 JERERT=TH| 3 |28
g 1927 -1 JEHERT=TH| 3 |23
ERh | 1927 - 1 JERERT =T H| 3 |24
g 1927 -1 JEHERT=TH| 3 |24
ERh 1927 - 1 JERERT =T H| 3 |26
Mgt 1927 -1 JEHERT=TH| 4 | 8
ERh 1927 - 1 JERERT =T H| 4 |10
Mgt 1927 -1 JEHERT=TH| 4 |10
ERh 1927 - 1 JERERT =T H| 4 |10
AEdh 1927 -1 JEHEIT=TH| 4 |10
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R | 1927 -2 JERERT=TH| 4 | 7
il 1927 -2 JEREMT=TH| 4 | 8
R | 1927 -2 JERERT =T H| 4 | 8
| 1928 JEHENT=TH| 4 |11
| 1928 JERERT =T H| 4 |16
WEdh | 1928 -1 JEHENT=TH| 4 |11
| 1928 -1 JERERT=TH| 4 |11
WEdh | 1928 -1 JEHENT=TH| 4 |13
e | 1928 -1 JERERT =T H| 4 |15
el 11928 — 1 JEHEIT=TH| 4 |15
e | 1928 -1 JERERT=TH| 4 |16
el 11928 — 1 JEHENT=TH| 4 |16
R | 1928 -2 JERERT=TH| 3 |21
el 11928 -3 JEHENT=TH| 4 |16
R | 1928 -3 JERERT=TH| 4 |17
el 11928 -3 JEHENT=TH| 4 |17
T | 1928 -5 JERENT=TH| 4 |16
1929 JERERT=TH| 3 |20
ikl | 1930 JERENT=TH| 3 |16
11930 JERERT=TH| 3 |18
ikl | 1930 JERENT=TH| 3 |18
11930 JERERT=TH| 3 |18
il | 1930 JERENT=TH| 3 |18
1930 -2 JERERT=TH| 3 |14
fEih 1930 -3 JEHERT=TH| 3 |18
JERE | 1930 -4 JERERT =T H| 3 |15
Eih 1930 -4 JEHERT=TH| 3 |15
R 1930 -6 JERERT =T H| 3 |16
Eih 1930 -6 JEHERT=TH| 3 |16
JERh 1933 - 1 JERERT =T H| 4 | 7
Edh 1933 -1 JEHERT=TH| 4 |10
JERh 1933 - 1 JERERT =T H| 4 |10
jEith 1933 -3 JEHERT=TH| 4 | 8
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1948 SCIRHT 6 |35
il | 1948 SCIRHT 6 |36
e | 1948 -1 SCIEHT 6 |37
Edh 1948 -7 SCIRHT 6 |22
R | 1948 -7 SCIEHT 6 |22
Edh 1948 -7 SCIRHT 6 |22
R | 1948 -7 SCIEHT 6 |22
Edh 1948 -7 SCIRHT 6 |34
e | 1948 -7 SCIEHT 10 | 14
el | 1948 -7 SCRCHT 10 |14
| 1948 -7 SCHCHT 10 | 14
el | 1951 -8 SCRCHT 6 |25
il | 1953 JERERT=TH| 3 |18
el 1960 -4 SCRCHT 7141
| 1960 -4 SCHCHT 7141
Rk | 1971 JEHERT=TH| 5 |19
il 1971 JERERT=TH| 5 |19
JHEh | 1971 JERERT=TH| 5 |19
il | 1980 JERENT=TH| 5 | 1
JEh | 1981 JERERT=T H| 6 |42
il 2004 SCHCHT 10 | 50
| 2004 SCIRHT 10 | 50
R | 2027 -2 JERERT=TH| 8 | 1
JHEh | 2031 JERERT=TH| 8 | 5
Edh | 2031 -1 JEHERT=TH| 8 | 4
Rk 2031 - 1 JERERT =T H| 8 | 6
jEih 2031 -2 JEHERT=TH| 8 | 7
Rk 2032 - 1 JERERT =T H| 8 |10
Edh | 2032 -1 JEHERT=TH| 8 |11
| 2034 JERERT=TH| 8 |11
il 2036 JEHERT=TH| 9 |35
R 2036 - 1 JERERT =T H| 9 |31
i 2037 JEHEIT=TH| 9 |29
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| 2037 JERERT =T H| 9 |30
Eih | 2038 -1 JEHENT=TH| 8 |15
| 2038 -3 JERERT =T H| 8 |17
Eh | 2039 -1 JEHENT=TH| 8 |18
e | 2039 -1 JERERT =T H| 8 |19
i 2039 -2 JEHENT=TH| 8 |20
T 2039 -3 JERERT =T H| 8 |20
fEih 2039 -3 JEHERT=TH| 8 |21
| 2039 -4 JERERT=TH| 7 | 2
el 2039 -4 JEHEMT=TH| 7 | 2
il 2039 -4 JERERT=TH| 7 | 2
el 12039 -6 JEHERT=TH| 8 |23
i | 2039 -7 JERERT=TH| 8 |23
el 2039 -7 JEHERT=TH| 8 |23
| 2039 -8 JERERT=T H| 8 |22
el 2040 -2 JEHERT=TH| 9 |26
R | 2041 -1 JERENT=TH| 9 |19
k2042 -3 JERERT=TH| 9 |20
R | 2045 - 1 JERENT=TH| 7 | 5
R 2045 - 1 JERERT=TH| 7 | 5
R | 2045 -2 JERENT=TH| 7 | 5
il | 2046 JERERT=TH| 7 | 5
il 2047 JERENT=TH| 7 | 8
| 2047 JERERT=TH| 7 | 8
R 2047 JEHERT=TH| 7 | 8
JERh 2047 - 1 JERERT =T H| 7 |10
g | 2047 -1 JEHERT=TH| 7 |10
R 2047 - 1 JERERT =T H| 7 |10
g | 2047 -1 JERERT =T H| 13 | 8
JEh 2048 - 1 JERERT =T H| 14 |12
jEith | 2048 -2 JEHERT=TH| 7 |13
| 2050 SCIRHT 10 | 16
fEith | 2050 -2 SCH T 10 [ 19
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M | 2050 -3 ST 10 |19
Al 2050 -3 SCHCHT 10 | 20
il 2050 -3 SCCHY 10 | 21
Al 2050 -3 SCHCHT 10 | 23
il 2050 -5 SCCHY 10 |23
Al 2050 -5 SCHCHT 10 | 23
il 2050 -5 SCCHY 10 |23
Al 2050 -5 SCHCHT 10 | 24
il 2050 -6 SCCHY 10 | 25
&R 2050 -6 SCHT 10 | 27
il 2050 -8 SCHCHY 10 |18
&R 2050 -8 SCHT 10 |18
il 2051 -1 JEHERT—TH| 7 |39
BERR 2051 -1 HEFT—TH| 7 |39
i | 2057 SCHHY 10 |23
HERR | 2058 - 1 SCHT 10 |30
il 2058 -2 SCHCHY 10 |28
R 2060 - 1 ST 10 |31
il 2060 - 1 SCHCHY 10 |31
R 2060 - 1 ST 10 |33
#ih | 2061 SCHCHY 10 |36
R 2061 -1 ST 10 | 35
il 2061 -1 SCHCHY 10 |35
M | 2061 -1 ST 10 |37
Ml 2062 -5 SCHUHT 10 | 40
R | 2062 -5 ST 10 | 40
Ml 2101 SCHUHT 11| 5
PRl | 2242 -4 ST 11 2
Al | 2252 SCHUHT 11| 4
ik | 2252 ST 11| 4
Al | 2252 SCHUHT 11| 9
ik | 2252 ST 11 |10
Al | 2252 SCHUHT 11 |10
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| 2252 SCIRHT 11|10
e | 2252 -1 SCHCHT 11 3
e | 2252 -1 SCIEHT 11| 6
e | 2252 -1 SCHCHT 1|7
2252 -1 SCIEHT 11|11
e | 2252 -1 SCHCHT 11| 4
T | 2256 -2 SCIEHT 12| 3
i | 2256 -2 SCHCHT 12 3
| 2256 -2 SCIEHT 12| 8
ek | 2408 JEHENT=TH| 13 |17
ikl | 2408 JERERT =T H| 13 | 17
e 2411 -1 JEHENT=TH| 13 |17
R | 2411 -1 JERERT =T H| 13 | 17
e 2411 -1 JERERT=TH| 13 |17
e | 2411 -7 JERERT =T H| 13 | 17
Rk | 2495 JERERT—T H| 6 | 4
il | 2495 JERERT—T H| 6 | 4
e | 2497 JEHERT—TH| 6 | 6
il | 2497 JERERT—T H| 6 |17
Pl | 2498 JEHERT—TH| 6 | 7
il | 2499 JERERT—T H| 7 |33
| 2499 JEEERT—T H| 7 |36
il | 2499 JERERT—T H| 7 |36
| 2500 JERERT—T H| 7 |37
g | 2500 - 1 JEHENT—TH| 7 |35
Rk | 2500 - 1 JERERT—T H| 7 |35
jEih | 2501 -2 JEHERT—TH| 7 |38
BEHR | 2502 - 1 JERem—TH| 7 | 5
jEih | 2502 -2 JEHENT—TH| 7 | 9
JBEHR | 2505 - 1 JEREM—TH| 7| 9
Eh | 2505 - 1 JEHERT—TH| 7 |10
Rk | 2506 - 1 JEREAT—TH| 7 |11
jEith | 2506 -3 JEHERT—TH| 7 |12
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| 2508 JERERT—T H| 7 |15
2510 JERERT—T H| 7 |16
il 2510 JERERT—T H| 7 |17
2510 JERERT—T H| 7 |17
kil 2512 JERERT—TH| 9 | 5
MEdh | 2512 -1 JERERT—T H| 7 |20
e | 2512 -1 JERERT—T H| 7 |28
MEdh | 2512 -1 JERERT—T H| 8 | 2
e | 2512 -1 JERERT—TH| 8 | 2
el 2512 -1 JERERT—T H| 8 | 6
e | 2512 -1 JERERT—TH| 9 | 8
el 2512 -1 JERERT—TH| 9 | 9
e | 2512 -4 JERERT—TH| 9 | 1
el 2512 -4 JERERT—T H| 9 | 2
| 2512 -4 JERERT—TH| 9 | 2
el 2512 -8 JEREAT—T H| 8 | 6
| 2512 - 10 JERERT—T H| 8 | 5
BERR 2512 - 18 JERERT—TH| 8 | 8
| 2512 - 18 JERERT—T H| 8 |10
BEER 2512 - 18 JERERT—TH| 8 |12
R | 2512 - 23 JERERT—TH| 9 | 7
BER | 2512 - 23 JERERT—TH| 9 | 7
R | 2512 - 42 JERERT—T H| 9 |12
| 2513 JEHERT—TH| 9 | 6
il 2513 JEHERT—TH| 9 | 9
| 2513 JERERT—T H| 9 |10
R 2513 JEHERT—TH| 9 |10
| 2513 JEREAT—T H| 9 |14
R 2515 JEHENT—TH| 9 |11
| 2515 JEREAT—T H| 9 |12
R 2515 JEHENT—TH| 9 |12
| 2515 JEREAT—T H| 9 |12
2517 JEHERT—TH| 9 |12
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JERh 2517 - 1 JERERT—T H| 9 |13
MEdh | 2517 -1 JERERT—T H| 9 |13
e | 2521 -1 JERERT—TH| 9 |14
MEdh | 2521 -1 JERERT—T H| 9 |14
e | 2521 -1 JERERT—TH| 9 |14
e | 2524 -1 JERERT—T H| 9 |15
e | 2525 - 1 JERERT—TH| 9 |15
Eih | 2526 - 1 JERERT—TH| 9 |11
R | 2526 - 1 JERERT—TH| 9 |14
el 2526 - 1 JEREAT—T H| 9 |14
| 2526 -4 JERERT—T H| 9 |14
el | 2526 -5 JEREAT—T H| 9 |14
e | 2526 - 5 JERERT—T H| 9 |14
el 2527 -1 JERERT—T H| 9 |16
e | 2528 - 1 JERERT—TH| 9 |18
el | 2528 ~ 1 JERERT—T H| 9 |18
R | 2529 - 1 JERERT—T H| 9 |19
k2530 - 1 JEEERT—T H| 9 |22
T | 2530 -3 JERERT—TH| 9 |20
R 2530 -4 JEEERT—T H| 9 |20
e | 2531 -1 JERERT—T H| 9 |23
Rk | 2531 - 1 JERERT—T H| 9 |23
il | 2532 JERERT—T H| 9 |14
R 2533 - 1 JEEERT—T H| 9 |23
g | 2533 -1 JEHERT—TH| 9 |23
Rk 2533 - 1 JERERT—T H| 9 |23
g | 2533 -1 JEHERT—TH| 9 |23
R |1738-1-1 JERERT T H| 9 | 9
i ith JERERT—TH| 2 | 1
JER i JERERT—TH| 2 | 6
i ith JERERT—TH| 3 | 6
JER i JERERT—TH| 4 | 1
i ith JERERT—TH| 4 | 3

- 186 -




m = JBm £ R ;o o\ £ R
ARSI AN %ﬁmz:%ggﬁ "
i i JEEERT—TH| 4 | 3
i ith JERERT—TH| 4 | 6
i JERERT—TH| 5 |13
i ith JERERT—T H| 5 |13
i JERERT—TH| 5 |13
i ith JERERT—T H| 5 |25
i JEREAT—T H| 5 |25
i ith JERERT—T H| 6 | 8
fi JEREAT—T H| 6 |28
g ith JERERT—TH| 7 |31
i JERERT—TH| 8 | 7
g ith JEHEIT—TH| 8 |12
i JERERT—TH| 8 |15
i JEEERT—TH| 9 | 4
i JERERT—TH| 9 | 6
g ith JEREIT—TH| 9 |12
i JERERT—TH| 9 |12
JEith JERERT—T H| 9 |12
i JERERT—TH| 9 |12
JEith JERERT—T H| 9 |14
i JERERT—TH| 9 |21
JEith JERERT—T H| 9 |22
i JEHEETZ=TH| 8 |15
i ith JERERT T H| 11 | 3
it JERERT —TH| 11 | 3
JiEith JERERT=TH| 1 |31
i th JEHERT=TH| 3 | 9
JiEith JERERT =T H| 3 |10
i ith JEHERT=TH| 8 | 2
JiEith JEREAT =T H| 13 |31
i ith SO T 1] 2
JiEith SCIRHT 10 |17
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